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GENERAL STUDIES 

Time Allowed : 3 Hours] [Maximum Marks : 300 
Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCTIONS 

1. Tlus Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open 
it at the commencement of the examination. As soon as the signal is received you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are 
requested to check whether all the questions are there in series without any omission and ensure there 
are no blank pages in the question booklet. In case any defect in the Question Paper is noticed it shall 
be reported to the Invigilator within first 10 minutes .. 

3. Answer a ll questions. All questions carry equal marks. 
4. You must write your Register Number in the space provided on the top right side of this page. Do not 

write anything else on the Question Booklet. 
5. An answer sheet will be supplied to you separately by the invigilator to mark the answers. 
6. You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or 

Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode the above information, action will be taken as per commission's notification. 

7. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct 
response and mark in your Answer Sheet. In case you feel that there are more than one correct 
response, mark the response wluch you consider the best. In any case, choose ONLY ONE response for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

8. In the Answer Sheet there are four circles @ , @, @ and@ against each question. To answer the 
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for 
each question. Select one response for each question in the Question Booklet and mark in the Answer 
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If 
for any item,@ is the correct answer, you have to mark as follows : 

@ • @@ 

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination. 
After the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You are 
allowed to take the Question Booklet with you only after the Examination is over. 

10. The sheet before the last page of the Question Booklet can be used for Rough Work. 
11. Failure to comply with any of the above instructions will render you liable to such action or penalty as 

the Commission may decide at their discretion. 
12. In all matters and in cases of doubt, the English Version is final. 
13. Do not tick-mark or mark the answers in the Question booklet. 

SEE BACKSIDE OF THIS BOOKLET FOR TAMIL VERSION OF INSTRUCTIONS 
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1. ~ patient was prescribed a lens of +2 dioptre for correcting his vision. What kind of lens 
does he need? 

(A) concave lens of focal length 0.5 m 

(C) concave lens of focal length 2.0 m 

~ convex lens of focal length 0.5 m 

(D) convex lens of focal length 2.0 m 

urrrrQ>GU.$ @i6ti"l!DurrLQ>Lu Gu rrd;e; ~® ].DUQ!i.$@) +2 mLUJrruLri- GlSlrumro urfl)i>~Q>IJd;e;uuL.L~. 

~GU@$@)~ G$fiQ)6lJ UJ fT60T 6lS}6\)Q>61) 

(A) 0.5 m @)GlSJUJ~@IllJLD Qe;rrl:ML@)~ G6\lm~ (B) 0.5 m @)GlSIUJ~~IJt.b G-srr6WTL@i6lSl Gro6irr~ 

'(C) 2.0 m @)GlSJUJ~@IllJLD G-srrooL @)~ G@mffil (D) 2.0 m @)GlSIUJ~~IJt..D Qe;rrooL@iGlSl QQJ6iirffil 

2. Which of the following physical quantities have same dimensions of ML2 r-2 K -1? 

(A) Gas constant, Boltzmann constant, mass 

(B) Thermal conductivity, Resistivity, Gas constant 

(C) Pressure, Volume, Avagadro number 

~ Thermal capacity, Gas constant, Boltzmann constant 

e;a~ Ge;rr@d;e;uul...L @UJJDtSlUJru ~GTTQ>6Ue;GITlru ML2 r-2 K -1 ~al) L.Orr~rflwrrm urfa.orr6mt..D 

Q $fTOOLQ)6lJCEW 

(A) GUrr~LDrr!DlQ)). GurrruL.Ql)GL06irr LDrrn516Ul. Jfi166l!D 

(B) G6l..luu8;e;L~~t..D ~.(Dm, u51m~Q>L coroo, 6l.lrr~ LDrr!Dl6Ul 

(C) ~@~$fit..D. UQ!JLilm, ~G6l.lrrGe;L..1Jrr coroo 

(D) GGl.luu ~JDLl~!Dm. 6l.lrr~ LDrr!6J6Ul, GurrruL.~Gwm wrr!DIQ)) 

3. An electronic circuit for generating alternating current of a desired frequency is 

(A) amplifier (B) modulator 

(C) detector ~ oscillator 

~® ®JDlut.5lL.L ~fb!rrGGl.loo Qe;rrooL l.OfT.!))JtblQ>8' uS16irrG60lrrLL~61)~ S2....Q96l.lfT$@)t..D u51m60l@ ar!iJ!J5l6irr GuUJrT 

(A) Qu®8;.$l (B) uooGu!D!6J 

(C) uoot.5lin~£l (D) ~Q)@u.S'IUJJi>nSl 

4. A body weighs 900 kg on the surface of the earth . What will be its mass in a planet of ~ th 

the mass of the earth and half the radius of the earth? 

(A) 20.5 kg <"I 400 kg (C) 200 kg (D) 100 kg 

V!® Gurr@ffilm <OrQ">L 46lSlu51ru 900 £1 . .$1. ~@)LO. 4Gl5lu516irr .<OrQ">LUJ rrru ~mu~ru ~® uffii@>t.b ~IJ!bfblru 

~Q)IJU Uffi.J@)LD S2....WGTT ~® £11Je;!bfb!ru ~uGurr@ffilm <OrQ>L cormm? 

(A) 20.5 kg (B) 400 kg 

3 

(C) 200 kg (D) 100 kg 
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5 Th m l ular formula fi r ('A. 1 

(A) Ca (NO )i5 NH NO 

( '} 0 !5 l 0 

Ca (N01)2 5 NH4 NO 

5 Ca (N02)2 5 NB. NOa 

(B) Ca{N0~'-5 hTJ4NO 
(' (NO TlJ NO 

(B) Ca (NO ) 5 NH. NO 

(0) Ca (NO ) NH• NO 

G. If 0.400 g of NaOl l(s) is dissolved to make 250 ml of solution, then calculate the pH. 

(A) 8.0G (H) 9.08 (C) 10.0G ~ 12.602 

• 

0.400 g /).i_ NaOl 1 (s) m JDQr® ,[blflro 6;Q)I]~ 250 ml S";Q>1]6ru piUJITltl~~rrru .!}!$fiQJ i5l GTU GT6i.JQJGITQJIT8i 

@®B;®ib? 

(A) 8.06 (B) 9.08 (C) 10 06 (D) 12.602 

7. Who introduced the electronic theory of acids and bases? 

(A) Arrhenius (B) Frankbn ~ Lewis (D) Bronsted 

~uSlru-a;rr1Jri.l8i~Mrrm uSlm o::!>l~@UJro ~UJrrl (electronic theory) QlUJ ~JDlCJ>BiLD G6li.J~QJrr UJrrrr? 

(A) ~rr~bOllUJGiu (B) :.ul]rrm8;mlm (C) ~uSlw (D) Ul]ITmWLL 

8. Consider the following statement. 

I. Eguisetum is a hydrophyte 

IL Eguisetum is commonly known as Horsetail 

III. Eguisetum is a pteridophytic plant 

IV. Egmsetum belongs to angiosperms 

Which of the above statements are correct'? 

(A) I and II (~ II and III (C) III and IV 

£w6;a;QiGrL 801..tDg)l8iQ>QT c!tbtU8i. 

r. rr-8>6\Sl6li_Lb ~® .ffirr6'1.Jrrw ~rrQJ11i.D 

II. rr:8>6l516lLLb Qurr~QJrrs; ©~a>l]QJrrru GrmWf d)lm~8>a;uu@Lb 

III. r:r.8>6l516lLLb ~® QuflaLrr6WluL. ~rrQJl]LDrr®Lb 

IV. rr-6>6l516lLLb ~~DlaUJrr~Gur'rib QJQla;mUJ.9: 6rrr'r~~~ 

aLDlD8iQiGrL BntDgJ!s;ffilru s:tflUJIT~Q)QJ ~QlQJ? 

(A) I LDtDWJLD II 

(C) III LD!f>WJLb IV 

ACFGS 4 

(B) II LDtD[!)ILD III 

(D) IV LDJDWJLD I 

(D) IV and I 

www.upscstudymaterials.com



9. Find the odd one out 

(A) Vitamin A ~ Vitamin B 
(C) Vitamin D (D) Vitamin E 

aiw<'Errni~ru 6m'QJ d> w Gir Q u rr ®~~ L.O!:i> JD ~~8; ®!61 u t5l @<'E 

(A) Q)QJLLuSl60r A (B) ~6)JLLuSl60r B 
(C) ~QJLLuSl~ D (D) 6n6)JLLuSl~ E 

• 
· 10. Which of the following is/are common in both aerobic and anaerobic respiration? 

I. Glycolysis 

II. Kreb's cycle 

III. Lactic acid fermen tation 

IV. 

(A) 

Alcoholic fermentation 

II only (B) I a nd III (C) II and IV ~ ! only 

8il98;<'E~LQJ!i>IDJGir 61""@/ 6T6W>QJ <'Err!Dw &QJrra:~~!i>®L.0 <'Err!D.Q516i>rorr &GUrra:~~!D®L.0 Gurr~QJ rrB; ~Girm 
.@s;w~? 

I. $1Q>m8;a;rr~61oo 

II. c!tlllu sr19!D61 

III. Gru8;ll}..$ ~uSlQ) G,ffirr~~~Q> 

IV. ~Q><'E~rrQ> G,ffirr~~~Q> 

(A) II L.OL.@L.O (B) I L.O!i>.Q')f L.0 III (C) II LD!i>.[!)ltD IV (D) I LDL@Li:i 

11. Point out the wrong statement in the following statements: 

I. Fungi don't have chlorophyll 

II. Fungi are autotrophic organism 

III. Fungi plant body called mycelium 

IV. Fungi may be parasites or saprophytes 

(A) I ~ II (C) III (D) IV 

t5160TQJ®QJ~QJJ!>wro ~QJJDrr6lll <'E@~Ql~ ®r6Jut5l@a;. 

I. k!,~Qlea;Gir u.9:6MUJ~6n~.$ G<'Err~tq.@Bi<'Err~ 

II. kj,~6W>a:a;Gir arUJ ~@Sls;Gir 

III. k!.~~8'8>ffi!60T l!L.Lruli:i ~w61bl51UJU:l 6T~uu@U:l 

IV. kj,~Qla:a;ro ~L.@~~UJrrs;GQJrr ~ruQ)~ a:rrw~~UJrra;G6Urr@®ii;e;rorrtil 

(A) I (B) II (C) III (D) IV 
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• 

12 0 ul 1 n l onn ctcd with 

A 

(A) 

( ) 

111 

(B) 

~ l 

B 

I>) 

• 

13. Thi 1 a phenomenon in \\Inch nmmal undC'rgo dormancy to c cape from excessive cold 

dunng '"mter 

~ Hibernation (B) Encystment 

(r.) Aest1vnbon (D) Diapause 

®"nlrro;rrruUlru c61rur6.J@s;m ~iiulbm Q..Lro P'>©~p;irol®.ffi~ urr~o;rrp;,§Jti; Qe;rrro~U:> ~QJmL.Out.SlQr 
GuUJiT 

(A) m)llJuirGp;~~ (B) ~Q16lQ\>L..GLDmL 

( C) 'l uSl ® llf. CG\J Cl!ji 60-r (D) Q>LUJUITQu 

l •l. Jn human beings inc r ease in the HBC lends to 

~ polycythemia (B) leukopenia 

(C) leukemia (D) a naemia 

LO~~ @rJ~~ 6l6\Juuw.9;e;Qi ~l}a,nl&®w JBie;w~!D® 

(A ) urrQ$1oolf~uSlUJ rr (B) ~~Ca,rrt.Sl~UJIT 

(C) ~£uSlUJrr (D) ~alluSlUJrr 

15. World Environmenta l Day was celebrated on 

(A) September - 16th 

(B) October - 7th 

~ June-5th 

(D) July - 1 Jth 

fLQ}ffi Bi!i>{l)IS'(§Wru Qs;rr6!ilrrLrrLuu@Lb ~QTLD 

(A) 16 Lb~~ Qa=uu.Durr 

(B) 7- Lb ~~ ~B;GLrrurr 

(C) 5-U:> a~~ gsi>6isr 

(D) 11-Lb a~~ gs.g~Q) 
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16. 1\1atch the training institutions with their locations and answer using the codes given 
below : 

Training institutions Locations 

(a) Indian Military Academy 1. Wellington 

(b) Officer's Training School 2. Dehradun 

(c) Armed Forces Medical College 3. Chennai 

(d) Defence Services 'staff College 4. Pune 

Codes: 

(a) (b) (c) (d) 

(A) 3 2 1 4 

~2 3 4 1 

(C) 4 3 2 1 

(D) 1 3 4 2 

LiuSl!Dfil .@£016U6UTrf.1s;Q'lm-iyt.O ~§! ~6W>l1),ffi~6Trm ' @Lrf.ls;mmiyi.0 t5lm6UQ9LO ®iDllD@s;mGIT.$ Qs;rr~@ 

GJSlmuu~. 

LI uSl !Dfil Jbl W6UWri.J s;ffio 

(a) @ii>!hl lU IJIT@IJ 6U 8; s; !;P.$ LO 

(b) ~/bls;rrfil B;bTr LI uSl Ji>fil U LI 6fr6lfl 

"(c) IJIT@IJQJ onr]ir 11)Q9~~6U.$ s;Q)~rfl 

(d) IJIT~6UU LI~lUrTQlfr uu5l!Dfil8; s;Q)~fil 
~ 

®n51t0@: 

(a) (b) (c) (d) 

(A) 3 2 1 4 
(B) 2 3 4 1 
(C) 4 3 2 1 

(D) 1 3 4 2 

.17. The Civil Services Day is celebrated on 

(A) 

"1 
21st January 

21st April 

(A) 21, ~w6Urrl 

(C) 21. 6Ju1JQ> 

1. 

2. 

3. 

4. 

7 

@Lrf.ls;ffi" 

G6U60lri.JLm 

aLrJrr~m 

Qummw 

bj,WrT 

(B) 31st May 

(D) 31st August 

(B) 31. all) 
(D) 31. ~s;~@ 
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l \\ h h f th 10nal Son n t tru • 
I "'"'"'

0 "'d by B nknn h ndt Chattcrji is the 

1 

11 It w ad pt d b\i th mbl) on J nunr 2 1950 along with 

National Anth m 

III. It \Hl fir t ong nt the 1896 10n of th Indian Notional Congr 

I\ . Th ong \an de Mathnram' \\a compo ed rn Bengali 

(A) l a lone 

(B) I and If 

(C) III and IV 

~ IV alone 

C~elUJu urrLru utbuft,~LOrrs; i.SlEiBT6U®LD 6fl.Wg)l8im1ru '"§)! urflUJrrQT~ruru? 

I. u~8.lt.O Ufbt;lrJ 6LLfr~ @lUJDpSlUJ '61Jft,C:~ LDIT~IJ"LD 0 urr.Lru .@Ji;t;IUJrr~m C:~51UJu UITLQ)rT®LD. 

II. 1950, gJQTQJifl 24 Qi ~11J£~~~LQr .@~~Li:> ~IJ"§)lUQ)OOLDUL.jSi ®@~QTfJITW 

~~S:e;rrlS;s;uul...L~ . 

III. .@~ QP~EiBT QP/bQ.Slru 1896 ru @Jb/;lU C:~61lU a;rrr&J~11Giiu iDrTJ!>rrl...iq.ru urrLuul...L~. 

IV. .@uurrLru 61Jr&Je;rrrol Gwrr~uSlru @lUJDfDLiul...L~ . 

(A) I LDL..@Li:> 

(B) I LD!ilfD!LD II 

(C) III LD!i>lJ;l!Li:> IV 

(D) IV LDL@Li:> 
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19. FJ1ere is Indira Gandhi Centre for Atomic Research (IGCAR) situated? 

I. Mumbai 

II. Indore 

III. Kalpakkam 

IV. Hyderabad 

~III (A) I (B) II (D) IV 

@[i>~IJIT <'j;fT[i>~ ~~ ~IJrTLLI#l .@mQ)llJt.b 6Tffil@) ~mLO,lli~ffi"GTT~? 

I. QPt.bmu 

II. @[i>~ir 

III. s;QiurrB;a;t.O 

IV. a3~1JrTUrT~ 

(A) I (B) II (C) III (D) IV 

20. Which committee was appointed by the Government of Tamilnadu to deal with Union-State 
relations? 

(A) Tarkunde Committee 

(C) Ramanujam Committee 

(B) Jeevan Kumar Committee 

8lfl Rajamannar Committee 

LO~~llJ - LOrT~Q) ~!J)Qjd;QT Q~rrLirUrTQT p;L6lwa; ~IJ6rTQJ .@UJL6lei;a;uuL..L (§@ 6T~? 

(A) ~ir(§~L (§@ (B) ~ru6GT (§LOrTir ®@ 

(C) IJITLOIT@J~t.b ®@ (D) IJrT~LOm6Ulrrir ®@ 

21. Find the odd man out : 

(A) Dravidian 

~ Newlndia 

(B) Andhra Prakasika 

(D) Justice 

£ws;rr~uQTru,IDg11ffi" Qurr®~LD!DJDmp;d; ®!Dlui.Sl@s; : 

(A) ~1Jrr6lSlurllJ6GT (B) ~[i>~IJ i.Sl1J8irr6ld;rr 

(C) .ffi11Y>@Jb~lUrr (D) ~~It\-~ 

22. 'Ujjawala' is a comprehensive scheme for the prevention of 

(A) Child Labour ~ Trafficking 

(C) Drug abuse (D) Untouchability 

SL~~rurrQ>rr 6T6GT!!J !DQ) ~L..Lt.b 6Tm~ ~@uu~? 

(A) ®W.!bm~ Q~rr~rurrml QPb6lJD 

(C) <;urrmp; uwB;a;t.0 

9 

(B) LO~~Gi; c$L~piQJ 

(D) ~~LITQ')l.O 
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2 11 th fl Vl tor t lh 1 un h d n 0 t 16, 20~4 fr m nh nk t • 
(A) J>8J -A26 {B) PSL\ - l 3 

fflff 
(A) PSLV-A26 (B) PSLV-A143 

( ' ) PSLV-C26 (D) PSLV-C143 

24. Arrange the names of the Presidents in the order of succession 

l. Dr. Znk1r Hussain 

II. K.H. Narayanan 

lll. Dr. Shunkar Dayal Sharma 

IV. V.V. Giri 

(A) I, II, III and IV (B) I, IV, II and III 

<vfl I. IV, III and II (D) III, I, II and IV 

t9~ruQ!Jib ~Qlrrtf;lutf;ls;Qflm- GuUJirs;oom Q~rrLir66lUJrrBi ~QllD~~ c!fnlUJrrGST 66'1ooLOOUJ ~Qfl . 

I. Dr. ~rrcilir Silll>~Gc!fQ-r 

II. ~.c:!ij,fr. Jf>ITIJ'ITUJ~QT 

III. Dr. Q!jorf.is;ir ~UJrrm Q!jil'rLDrr 

IV. 6'151. 6l5l . £1 ifl 

(A) I, II, III LDJD!PJib IV (B) I, IV, II LD!i>l);)lib III 

(C) I, IV, III LD!i>!PJib II (D) III, I, II LDJDg)lib IV 

25. Who was the first Prime Minister after Jawaharlal Nehru to complete a full term and then 
return to power for a second term? 

(A) Indira Gandhi 

(B) Atal Bihari Vajpayee 

(C) RaJiv Gandhi 

"1 Dr. Manmohan Singh 

~QJ~frQ)rTQ) C:Jf>@E>lil!i>@)U i5l!D@) 6TJb~ i5llj~lDfr Q.P@U u~6'6)B; Bi!TQ)lD QP~,(ii~ . ~IJ'.LITQJ~ (!PQ'l!!)UJIT<'£ 

~~t$1TIJ'~~!D® QJ,!ii~QJrT 

(A) @/f>~IJ'rr a;rr/f>~ 

(B) ~Lru t9~rrfil QJIT~UITlU 

(C) ~IJ'rr~~Qi a;rr,[ii~ 

(D) ur.$Lir lO~tDrra;Q-r 6lri.i 
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26 . • The lake which is not located in the rift valley region of Africa is 
(A) Lake Rudolf (B) Lake Tanganyika 
~ Lake Chad (D) Lake Malawi 

~ui.Slrtl.$B;rr6Ul~ tSlGTTQ.jUU6irGJT~p>rr8>(§U U(§~uSlQ> ~mLDJi;~IJrT~ ~rtl 
(A) @Lrrro.°.u ~rtl (B) p;rrffi.JB;~ti.JB;rr ~ITl 

(C) 6rTL ~rtl (D) LOrTGTTGlSl ~rtl 

27. Of the choices given below, which is not a major coral area? 
(A) Gulf of Mannar (B) Gulf of Kachch 
(C) Lakshadweep ~ Malabar Coast 

£a~ QB;rrffi\.$a;uuL..LmQJa;6"lru ~~ uQJmuurr~!DB;m .ffilm!DJI>~ u®~ ~ruru? 
(A) LO~~rrrr QJ~QT(§LrT (B) B;iJ. GUmGTT(§LrT 

.. (C) ~Q)L6~~6l.j (D) LOruurrrr B;LrDB;~IJ 

28. The shortest river among the following is 
(A) Ob (B) Niger (C) Volga (~ Indus 
£a~ Qa;rr@.$B;uuL..@mm p;~a;~m uSlB;.$ ®m!DJI>~ ffimi.D QB;rr~L !I>fil 
(A) ~u (B) mp;~rr (C) aQJrrrua;rr 

29. Match the following with their locations 
(a) Lake palace 1. Jodhpur 
(b) Meheransarh Fort 2. Aurangabad 
(c) Jantar Mantar 3. Udaipur 
(d) Ajanta and Ellora caves 4. Jaipur 

(a) (b) (c) (d) 
(A) 4 1 2 3 
(B) 3 1 2 4 

~ 3 1 4 2 
(D) 2 4 3 1 
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30 \\11 • I 
II 
JU 
I\ 

~ ( ) J onl B I II nd Ill D I\ 

g· 
I. 
II 
111. 
IV. 

(A) I LOL..@U> (C) I' II LOtDgJ!lD JJI (D) IV LOL@U> 

31. Con idcr the following statement. 

Choo e the correct answer from the codes given below. 

Assertion (A) Budget deficit is a serious concern 

Reason (R) Budget deficit leads to higher rnte of growth of money supply 

~ Both (A) and (R) are individually true and (R) is the correct explanation of (A) 
(B) Both (A) and (R) arc individually true but (R) is not the correct explanation of (A) 
(C) (A) is true but (R) is false 
(D) (A) is false but (R) is true 

t51ooru®i.b QJrru..$lUJ~oolb "'®Pi~ru Qa;rrERr@, 6nlUJrrQT ~ooLooUJ £Gw ®JDll.nSlL@mm ®!DluS@a;"1flro1®Ji>~ 
Gp;fr[i>Qlb@ 

& rr ry QRSTi.b (R) 

Jbl~~a>ru uct>wrr.t®Q)!DUJrrm~ ~® GLDrrs:LDrrm s;QJmruUJrr@)i.b. 

Jbl~.ffil""\) UtD!DITBi@)Ql!DUJITQT~ UQRST ~mlut51~ ~~a; rumfr6bl Q)tb~~d>® 
~iirGs;rr~.$l!D~· 

(A) (A) LD!i>{l)li.b (R) ~QT~ tb~h.Jul..L ~m6\Slru s:nl c!ij,QTrrru (R) ~QT~ (A) -~ s:ITlUJrrQJ 6\SlmB;s;tb 

(B) (A) LD!i>g)ltb (R) c!ij,QT~ tb~uul..L ~m6\Slru .CJnl 4QTrrru (R) -~QT~ (A) -oo s:rrlUJrrQT 6\SlmS;a;i.b 
~Q)Q) 

(C) (A) s:nl 4QTrrru (R) lb6U{l)l 

(D) (A) lb6UID! 4QTrrru (R) s:rrl 

32. Which the following name represents this definition given below? 

"As the cost of the commodity increases the price of the commodity increases" 

~ cost-push inflation (B) demand-pull inflation 
(C) mark-up inflation (D) creeping milation 

£aw Ga;rr@S>s;uul..@wm QJOOflUJa>!Ds;~L~ QtbrrLfryoo1...UJ~ GT~? 
Qurr®~~ ~1...S;a; 6\Slooru fLUJrTQJ~rrru ~~~oo 66lmrull..ji.O fLUJQ9.$l!D~· 

(A) Qs:ru~ rLJi>~tbru uQRSTQ)8;c!J;i.b (B) C:tboo6U @@Lil..l uQRSTQ)B;a;i.b 
(C) ~Q)LUJITQT U6WT@.9;s;i.b (D) ULQ9i.b UQRSTQ)6;s;tb 
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33. • Which Australian scientist has developed a patch which vaccinate without any injection? 

twfJ Mark Kendall (B) Mark Stephen 

(C) Henry Rodrich (D) Wangari 

lWr6'1u5lm,n51 u!iJw6\Slm (y)Qllb W(§[fiQ)~ Ga:~~~lb QP6r>!!)6r>tLI L(!96lJrT8;$ltLI ~oo~Gl)66ltLI GiSll§<§rT~ UJrrr'r? 

(A) wrrrr.$ Qe;mu;u (B) LDrrrr.$ Giute.um 

(D) 6lJ rrrlii.$ rfl 

34. The densest galaxy discovered recently through NASA's space telescope is known as 

(#(I M 60 - UCDl (B) N 60 - UCD 1 

(C) M 60 .- UCD (D) N 60 - UCD 

~6WT6r>tnu5lru !Drra:rr 61S16WTG6l.lml G~rrQ)QlG)Drr.$$1 (!PQ>lb e;aiGTLJDltuuuL..L uSle; ~Lrrfe>~ .ffiLB'~~ll &L..Llb 

(Galaxy) GT6i.J6l.Jrr©f ~6r>W8>e;uu@$l!D~? 

(A) M60-UCD1 (B) N60-UCD1 

(C) M 60 - UCD (D) N 60 - UCD 

35. Which among the following country has discovered that the Dwarf Planet 'Makemake' has 
no atmosphere? 

(A) Switzerland (B) Netherland 

<Uf/ Spain (D) France 

£Gw G8irr@.$a;uuL..@Girmm6l.Jdi~Ql 61,n5ltu ae;rrGir 'Gtn8iaw8;' -!D® 6l.J6ifl tnaiG!'u;ulb @6u6rlro GT6i!TUQ)~ 

e;aiGT@i.Sl1it-~~ )DIT@ GT~? 

(A) 6iu6lS1L..a:rrQ>rr[fi~ (B) GJD~rrQ>rrfe~ 

(C) miGuuSlm (D) i.Sll)rrmmi 

36. To detect which disease the 'iknife' developed by British Scientist is used? 

(A) Tuberculosis 

<lift Cancer 

(C) Kidney stone 

(D) High blood pressure 

i.SlITlL..L6llflm 61S1<§<§rr~e;mrrru itl....Q96l.Jrr8;8iuuL..L 'iknife' Grfea!Drr~tu e;aiGT@i.Sl1it-8>a; utLimu@$16i!r!D§J? 

(A) GT~LOL.1(!9.$$1 G]DrTuJ 

(B) L1!i>WGJDrrlLi 

(C) 61I9J.llille;.$s;ru 

(D) LtLirr @ll~~ ~@~~lb 
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, 
I 

i \-\h 
(A) (B} 

(Il 

(B) Bl.OG 

0)) Ql rfloo lD IJ)ILD ~UI] 

38. Jllgh concentration of iron and steel plants m India is found m 
(~ Chota Nagpur Plateau (B) Coastal Plain 
(C) Malwa Plateau (D) Deccan trap 

@,[i;~UJrr~Q.i @Q!JLOL.j ~o0of!!J Q~rrWl!i>6rTQ>Q)6iGr c:!9l/i)e;Li:l e;rr~uu@Li:l Uf!!J~ 

(A) ~rrLrr JbrT6j4rfl i.51.-\d.uSl (B) s;LJi>s;mr}' s:LOGru61ft 

(C) LOrrQ.irurr oL~uS1 (D) ~.;;a;rrQUT L.S'liq.u4 

39. Match the states with the minerals in which they lead the production 
(a) Orissa 1. Copper 

(b) Madhya Pradesh 2. Thorium 
(c) Andhra Pradesh 3. Manganese 
(d) Ker ala 4. Mica 

(a) (b) (c) (d) 

(~ 3 1 4 2 

(B) 2 3 1 4 

(C) 3 1 2 4 

(D) 4 3 2 1 

pl m 

LOrr.@Q>ri.Js;Ql61T c:!9lmQJa;m 11....Ji>u~uSlru (!PQrQTQfl ru.$l.!6f!!Ji.b 15rr§JMC:Grrrr@ Gurr®~a;. 

(a) Vlrflwwrr 1. ~;,toJI>rrs;Li:l 

(b) LO;,~UJ tSll)'C~i.b 2. C:torrrflUJLi:l 

(c) 4,ffi/i)rJ' tSlrJ"C:tos:t.0 3. tnrrri.la;~~ 

( d) (:a;r}'QTJT 4. Qll.OB;IT 

(a) (b) (c) (d) 

(A) 3 1 4 2 

(B) 2 3 1 4 

(C) 3 1 2 4 

(D ) 4 3 2 1 
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40 . • The atmospheric layer which reflects radiowaves is called 
(A) exosphere (B) stratosphere 
(C) troposphere Ji!( ionosphere 

G1JUj-GlUrr ~Q>Qls;Q>ro t5l1J~urol.$@5Lb GU6Tfh.o~LQ) ~@.$.$16isr GulUfr 

(A) 6r.$Ga=rrwt5llUfr (B) w l....1JGLrrwt5l1Ufr 

(C) L.G1JrruGu 1Twt5l1Ufr (D) ~lUGmrrwt.S1UJfr 

41. Beaufort scale is used to measure 
(A) 
(C) 

Air pressure 
Wind direction 

~ 
(D) 

Wind velocity 
H umidity 

t5lG1U!TCurr.0.L. ~QTQ>GU 6Tb'6>fh ~m.$a; uUJmu@~fbu@.$1JD~ 

(A) s;1T!iJp51~ ~@~fbi..D (B) s;1T!iJp516isr GGUs;tb 

(C) <!blT!iJp51m ~6rl6 (D) Fl'IJUUfbLD 

42. Pick out the wrong statement 
~ Mediterranean type-less precipitation through-out the year 

(B) Extra tropical westerly zone-precipitation throughout the year 
(C) Equatorial westerly zone-constantly wet 
(D) High polar zone- meagre precipita tion, summer rainfall, ear~y winter snow fall 

fbGUJDrrm &.W6W>JD s;l....Uj-.$ a;rrl....LQjLD 

(A) LD~~UJ fhb6>1J.$a;Lru GUma; - ~Qiirr@ QP@GU~LD uSlfbLOITQT LDGl>W 

(B) GLO!iJ~~UJ ~UJQT l.OQlrrLQ)LD- ~Qiirr@ (Y)@GU~LD LOGl>W 

(C) Gt.ort>s;~~llJ IJLD~~UJ G1Jms; LDQlrrLQ)LD - 6TuQurr@~tb n:IJLiufbi..D 

(D) ~UJrr ~(!96U l.OQlrrLrui..0 - Gs;1T6W>L l.06rlW l.OWIDJLD QP6isr @)mlfr u61IT1u GulT~Qj 

43. belong to Borneo primitive people. 
(A) Kub us ¢ Dayaks (C) Pygmies (D) Sermang 

6Tmu6l.J rrs;6Tr Gu 1Trr6'0flGUJ1T6lSlm u1:9rt.i@5ui- Ln.$s;m ~6UITrT. 

(A) @5.$!Jw (B) fh UJ IT .$s;w (C) t5l.$uSlw (D) Ga=LD1Tri.J 

44. The shore temple at Mamallapuram and Kailasanatha temple at Kanchipuram were the 
product of Pallava ruler . 
(A) Simhavishnu (B) Mahendrava rman 

$ Rajasimha (D) Aparajitava rma n 

LO ITLO ru Q) 4 fl Lb <!bLW<!bQ'l IT Gs;IT 6lSl ru LO rt> WI Lb a; rr ~6l 41JLD 6rJ$Q) IT 6J!i rr !b rT Gs; 1T6lSl 6rJ Q) a; LlltllJ LI ru Q) 6l.J l.OQT 6lllrT 

(A ) 6li..DL.06lSl~WJ 

(C) 1Jrr~6ltbL.Om 
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(B) L.OGa;.{5~1J 6Urrt.om 

(D) ~ulJrr~p; 6UrrL.Om 
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4 

I J'lw t:rv mt1-1 of lndrn 

II Oh h 
III 
I\ . Tntvabodlum Patr1ka 
(A) I and 11 
(B) 111 and IV 
( ) 111 only 
(D) IV only 

L5llirru(!!)Li> u~iif;lnlB;me;.smlru @/biif;lUJ uaiuftUJrrmrra;ar 6r&la;tb ~mw ~mLDuC:urr@ Gp;rri_rrt5\ci>Q>rr~ bl"~? 

I. @fr>SUJ u~UJrrmrr8i6h ar&i1ntb 

I I. ~UJrraJ i.5l17s;rr~ 

fI l. suID\~ITQJ ~ 

I\i p;~~ru Gurr~6Gfl u~~rflB;a;rr 

(A) I LOW!!)JLD II 

(B) I I I LO!i>!!)Jtb IV 
(C) III L.Ol...@Lb 

.¢ IV LOL@tb 

46. Which of the following is correct Atchinson Commission is related to 
I. Agriculture 
II. Education 
III. Industry 
IV. Civil Services 

(A) I ~ II (C) III (D) IV 

£wa;s;~i_girus;~6iT 6rflUJrrQT~ bl"~ ~i.:...8lm-s:Gir e;uS1Q!)rGir ~~~Loo Gp;rrun-1Q'>LUJ~ 
I. 66}QJa:rrUJtb 

II. s;G\>6\Sl 
III. Q~rr~d>a:rrmru 

IV. c::&l 17 a; u QRSfl 

(A) I (B) II (C) III (D) IV 

47. For what award in the year 1961 the famous instrumentalist Bismillal Khan was selected 

(A) Bharat Ratna (B) Padma Bhushan 

(C) Padma Sri (D) Sageeth Natak Academy 

~fi;tv 66l®~d>a;rra; 1961 ~Lb ~~@ ys;wGuii>w @gia:UJg)LDuurrmrr i.5lmiuS1rurorrs;rrGIT C:~rrQJ 
Ga:uJUJUULLITrT 

(A) 

J' 
ACFGS 16 

(B) 

(D) 
U ~LO \di Q!)r 00 
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I 
48. ""onsider the following statement. 

Choose the correct answer from the codes given below. 

Assertion (A) 

Reason (R) 

Every year 12th January is observed as National Youth day 

Government of India declared the birthday of Swami 
Vivekananda, 12th January, to be observed as National Youth 
Day. 

(A) (A) is correct (R) is not correct 

(B) (A) is not correct (R) is correct 

(C) Both are wrong 

~ Both (A) and (R) are cor.rect (R) is correct explanation of (A) 

t516irrru®tb rurr.Sc$1UJ~~~ .$Q!j~~ru Gs;rr~@. 5filUJrr60T 6U16r>L~UJ .£a~ ®!!5Jut.SlL...@m6TT ®i:61u)@a;Glft615)®.lli~ 
a~rr,lliG~@ 

s;®~@ (A) ~Gi..JQrurr® ~~@Lb @660lrurfl 12tb JlirT6Tr (g!ll61UJ .@GrlGTT<§rT ~60TLDrra; 
c!9!WJe=fil.S.suu@c$lJD~. 

8irTl)"~tb (R) @Ji>~ UJ c!9! fl <'Frrrlila; Lb arru rruSl 6U1 arua;rr6nl Ji>~ ill 6irr tSl !D ,lli~ ~ 60T ~Grl~. 
@66l!T6l.lrfl 12, (g~61UJ @~GTT(§rT ~60TlDrT.$ c!9!WJ<'ffil.S(!5LO Ullt ~!)5l6lSl~ffi~· 

(A) (A) 5fil (R) ~ruw 

(B) (A) ~ruw (R) 5fil 

(C) @ll~@tb ~ruw 

(D) (A) LD!DIDJL.0 (R) @ll~@L.O e:ifl. (A) u5l~ <'ffilUJrr60T GUlro.Sa;tb (R) 

49. Which of the following statements about South Indian Trade during 16th Century is/are 
NOT true? 

I. The largest shipyard was at Masulipatnam 

IL Narasapur was a lesser used shipyard 

III. On the western coast ships were built and repaired in Granganore and Cochin 

IV. Corollary to Northern India the shipyards in the South were mainly owned by rulers 

(A) II and III (B) II, III and IV 

(C) I, II and III ~ I, II and IV 

£.t.9. 16 ~LO !9JT!DJDrT~Lit~ Q~6irr~Ji;:$)UJ rurr~utb u!DJ61UJ ffi~8i~L 861.!DIDJ8i61ftru ~§J/~~6l.J 6rflUJGl>GU? 

I. uSls;uQurflUJ s;uurua;L...@L.O ~ffitb LD<§roll.JuL...lltm~~ro @®.ID~~ 

II. Jlifl<'F~d/r ~m!D s;uurus;L...@tb ~ffitb ®~JDGUrra; uUJmu@~~uuL...L~ 

III. at0!D® 8iL!D.$~1)"U U(!5~u5l@ $ll)"rrrlils;®'frT l.O!iJIDJLO Qs;rr6§lu5lru s;uuru a;L...@L.O ~mtb@®Ji>~~ 

IV. QJLLDrri£l@rli!s;~rou aurr6irra!D a;uurus;L...@L.O ~GTTLDrT60T~ L.Om60Ttllm IQ_L66)l.OUJrTc$ .@Q!),lli~~ 

(A) II LDJDWJLD III (B) II, III ·LDJDQ)JLD IV 

(C) I, II LD!iJf:9Jtb III (D) I, II LO!iJf:9JL.O IV 
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0 Wln h th follOY.10 w l b t} ar k 

patah1 utr 

I M 

II D1 n~ 1 

III. II odotu 

I\ D 1mnchu 

(A) I, II and BJ (vfl 1, II and I\ 

(C) JI, HJ and IV (I ) l, 111 and IV 

I. Gtn.!nGiiu~~oo 

II. L-C:UJIT~SQu 

III. QSil!DsC:LrrLW 

IV. LlDITQusQu 

(A) I, II LOJDWftD III (B) I, II LD!i>fOltb IV 

(C) II, III LO!i>~tb IV (D) I, III LD!i>l!)tb IV 

51. Which of the following is wrongly matched? 

(A) Junagadh rock inscription - Rudradaman I 

(B) Aihole stone inscription - Pulakesm II 

(C) Mehrauli pillar inscription - Chandragupta II 

~ Allahabad pillar inscription - Kumaragupta 

~Gl.J!Drre; Qurr®~~uuL..@roroQ>~ s;l...tq..Bi e;rrL..@e;. 

(A) @>QT8i~ UIT6'lJD BiGOGQJL...@- ®~~l}"~rTlDQT I 

(B) re<:e;rr<:Q)rr e;ru .sruGQJL...@- i!rr~L-rrtb 4'151<:.Yl 

(C) GLDe;rrQ;rol ~~ BiGOGQJL...@- ~IJ"~LITLD sJT>~ll ®LI~ir 

(D) ~Q>e;rrurrp; ~~ BiGOGQJL...@ - @jlDrTIJ"@jU~rr 

ACFGS 18 
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52. . onsider the following statements 

(a) Right to information is only a tool. 

(b) It will not always resolve our felt difficulties 

What (a) and (b) denote? 

~ Statement (a) and (b) are correct 

(B) Statement (a) and (b) are wrong 

(C) Statement (a) is right and (b) is wrong 

(D) Statement (a) is wrong and (b) is right 

LSI m 6l..l ® L.i:i Bi\.W !!51 Q>6ill ~IJrrlLi a; 

(~) p;a;6l..lro Guwt..i::i ~ .. .1flQ>L06: e:L.LL.i:i ~® a;@GlSlOUJ 

(~) JDITL.i:i 2-Eim(!!)L.i:i ~Q>6ill~@ tSl1J6:66~Hims;~8;@)L.i:i ~~ ~rT6tJIT<$1T~ 

(A) Bil..WIJ)J (~) LO!D[J)IL.i:i (~) e:rflUJIT6ilTQ>6l.J 

(B) Bii..WIJ)J ( ~) LD!DIJ)JL.i:i ( ~) p;6l..l.(DIT6ill66>6l.J 

(C) Bi\.WIJ)J ( ~) e:rfl LO!DIJ)JL.i:i ( ~) 1!>6l..lgll 

(D) Bi\.Wgll ( ~) p;6l..lg!J LO!i>g>JL.i:i ( ~) e:rfl 

53. Which of the following states was a union territory before obtaining its statehood? 

(A) Delhi 

(B) Chandigarh 

""' Goa 
(D) Gujarat 

(A) iq.roro1 

(B) e:~iq.s;rrrr 

( C) C:.srr6l.J rr 

(D) ®~fllT~ 
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54 MntC'h th fi 11 w 111 n I ch th c rr t n \\ r 

L1 t 1 Li tll 

l 1 0 11 t 

b) 2 Imp hm nt 

(c) Pre 1dcnt 3. No confidence motto 

(d) Cabmet 4. Legislature 

(n) (b) (c) (d) 

(A) 2 3 l 

c"'7 4 l 2 3 

(C) 2 3 4 1 

(0) 1 2 3 4 

£<:19 Qs;rr@S;s;uuL...@ffiw ®rD1u5@8.m~118; Ga;rr~@ 6rflturrm ~Q>LbdlUJ C::2)r'r,(i;Gfb@ 

ULlq.IUQJ I ULlq.lUQJ II 

(a) 6L...1.-.L.0 @lLIWl:l)llbQi 1. )E~LDQT(DtD 

(b) P,!)~~Q)!D 2. ~C17rrs; ®W!D ~6ITIJbdlQm' 

(c) ~mrr~u~ 3. J!i L.O L51 c!i;g,s;uSl Q)Q) rr ~ r'rLDrr 6ll'Ttb 

(d) c!91Q>LD66fr ~Q>QJ 4. 6LL6bdlU 

(a) (b) (c) (d) 

(A) 2 3 1 4 

(B) 4 1 2 3 

(C) 2 3 4 1 

(D) 1 2 3 4 

55. The members of the Central Vigilance Commission hold office for a period of 

(A) 6 years or until they attain the age of 60 years, whichever is earlier 

(B) 5 years or until they attain the age of 60 years, whichever is earlier 

~ 6 years or until they attain the age of 65 years, whichever is earlier 

(D) 3 years or until they attain the age of 62 years, whichever is earlier 

LD~~UJ s;~s;rr~uy ~Q>GlRITUJ tt.jp!LitSlmr'ra;~Ql' u~615lB;s;rrGiOtb 

(A) 6 ~~@s;Gir c!91QJQ)~ 60 QJUJ§J (lplq.t1)QJ @6Ufi>p5lru ""~ @m6ll'Tr'r 6\J@QJCfbIT ~~ 

(B) 5 ~~@s;m &1roQ)~ 60 ruUJ§J @l'l-fhru@ru!D!D1ru 6T~ QPQl'QTr'r ru@Ql<::p;rr &1~ 

(C) 6 ~~@<'!;Gilr &1roQ)~ 65 6\JUJ~ QPL'l-fhro @QJ!D!D1ro 6r~ QPQ1'6l1Tr'r 6U@6UC:fbrr &1§1 

(D) 3 ~~@s;Gilr &1ruru~ .65 6\JlU§J QPL'l-fhro @QJ!DJ6lro GT~ @mmrr QJ@6UC:fbrr ~§! 
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56. 9:>istrict Collector is a 

<"'1 Generalist (B) Specialist 

(C) Technician (D) Entrepreneur 

LDrrGl.JLL ~LfillLirr ~® 

(A) Gurr~ ~~66lLOUJrrmrr (B) ~~fb ~~Q)LOtLirrmrr 

(C) @LU~!!)6l!HTrT (D) Q~rr~ru (!PQ>QTG6Llrrrr 

57. Who appoints the Comptroller and Auditor General oflndia? 

<*1fl President (B) Speaker (C) Prime Minister (D) Vice President 

@.ffi~tLirrGlSl~ ~Q')Q)br>LO ~~8>66lc'li ~~8irrITl66lUJ .ffiltLIL06M~ Ga:wuGtJrr UJrrrr? 

(A) ~6Mrr~u~ (B) a:urrp>rr1J.:Jc'lirr (C) t5ll)~LOrr (D) ~Q>~ ~~rr~u~ 

58. Right to Information Act 2005 is based on 

c.Nfl Articles 19 & 21 

(B) Articles 14 - 18 

(C) Articles 23 - 24 

(D) Articles 25 - 28 

~6).JQ) l!:!....ITl6[)L068'LLt..0 2005 ~.ffiG~Ji>~ ~IJfillLIQ)br>LOULj GlS1~8iQ'lQT ~~UU6'>LllJrrs;8; Qs;rr6WTLt91 

(A) ~IJfillLIQ>(i[)LDULj GlSl~.g;Q'T 19 LOJDIJ)lt..O 21 

(B) ~1Jfi1lLIQ)6[)LOuy GlSl~e;m 14 @~ru 18 6Ll6'>1J 

(C) ~1J61wQ)66lLOuy GlSl~e;m 23 QP~ru 24 6l.l6'>1J" 

(D) ~IJ"filUJQ)mLDuy GlSl~e;m 25 QP~ru 28 6LlQ>IJ" 

59. How many languages were added to 8th schedule of Indian Constitution through 
9znd Amendment? 

(A) 3 ~ 4 (C) 5 (D) 6 

92-GtJ~ ~1161tLIQ)Q>LDuy ~®fb~t..O e!PQ)Lorr8i 8-Gl.J~ ~LLGl.JQ>~uS\ro ~~~Q)QT GLDrrWlc'lim 
Ga:rr8>s;uul...LQT? 

(A) 3 (B) 4 (C) 5 (D) 6 

60. Which constitutional amendment reduced voting age from 21to18 years? 

(A) 58th (B) 60th .,,, 6 l 8t (D) 63rd 

~fe~ ~1161UJru ~(i[)LOuy ~®~~t..O Q.Jrr.$® Ga=~fb~Q..1~JDc'lirr6M Q.JlLIQl~ 21-rol@_lli~ 18 ~s; ®mJD~~~? 

(A) 58 Q.J~ (B) 60 Q.J~ (C) 61 6).J~ (D) 63 Gl.J~ 
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1 

62. 

h I t 11 n 

Lt tl 
1 fl ifi 

b) 2 
(c) H1 
(d) 4. Right of Prot ct1on rn r p ct of conv1ction for of:fi nee 

C-0d 

(a) (b) (c) (d) 
4 2 l 3 

(B) l 2 3 4 

(C) 2 3 1 4 
(D) 3 2 1 

ULlq U.Jru l m UL!q.UJW II 12.-LQr QurrG~~ £<:w Qs;rr@8;e;uul...@romm1l> Qs;rr~@ e:ITlU.JITQT 661Q')LQ)U.J~ 

G1l>nJhQ~@ 

u L. iq. U.J ru r LI L. Lq-lU Qi II 
(n) ~(!9Li420 1 QJITWQJITlmLD LDtDglltD 1i>Qf!JJ>ur'r lli#DJb~fltD UIT~8JITLI4 

(b) IL(!9LI4 19(5) 2. @]bp;luJ /blruLiu®~ ~ri.J®t.0 6.tf>Jb~fll.DIT8; ,(bLLDITL u_ITlmLD 

(c) IL(!9LI4 21 3. s;ru6618;e.rr m u_ rfl m LO 

(d) IL(!9U4 21 (A) 4. ®!i>!Dri.J8i~Mrrm ®!i>!D~ ~ri"u46> ®i61P>~u urr~s;rru4 

®16ho@e;m 

(a) (b) (c) (d) 
(A) 4 2 1 3 
(B) 1 2 3 4 
(C) 2 3 1 4 
(D) 3 4 2 1 

Who determines the salaries and allowances of t_he Ministers in a State? 
(A) Parliament ~ State Legislature 
(C) Governor (D) Chief Mmister 

LDIT/blQ) &imLD66iT8>Qf1Qr Rm~Wt.0 LDtDglltD uiq.s;mm Q;fllq.Qj Qa:li..JQ.J~ lLJITir? 

(A) UITl}"rT~LDQl!DtD (B) LOIT.l£1Q) ULLLOQrjDtO 

{C) ~~,lbr'r (D) @1l>Q>6f>LD6a:ri" 

63. The Lok Sabha Secretariat works under the direct superv1s1on of 
(A) The President of India (B) The Prime Minister 1 The Speaker (D) The Minister for Parliamentary Affairs 

LDii;s;mmQ.J QqUJQ)B> uQ!Gfle;m ~mmp;~t.O G.ffilltq UJrra; s;•.g;rr~uu~ 

(A) @Ji;~lLI ffimrr~u~ (B) i.S11}"~LD LD,(6~rrl 

(C) 6UIT p;rrUJa;r'r (D) UrTIJ"fT~lDQr!D 6lS)Q.J8ifTI}" ~Q"JLOee:fr 
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64. .ind the odd one out 
(A) Finance Commission 

~ Official Language Commission 

(C) Election Commission 

(D) Planning Commission 

£wB>a;rr~um6U!D.Q)lGi"r Gurr@~fhLDlDJD6llfh8; ®!!51LiL.Sl@a; 

(A) j51~ ~6llQ!!TlLILD 

(B) ~~6\Jrua; GLDrrWJ ~6"6l~lLILD 

(C) CfhirfhGU ~6ll~lLILD 

(D) ~LL ~6"6lQ!bTUJLD 

65. The Sarkaria Commission made recommendations to improve the efficiency and morale of 
the All India Services. Which among these bodies were established for this purpose? 
I. Intergovernmental Council 

II. North Eastern Council 

III. Zonal Councils 

IV. National Development Council 

(A) I and II only 

~ I and III only 

(C) II and IV only 

(D) I , II, III and IV 

~..tlru @,(5fblUJ Ce:6ll6Ue;Qf\6i>T {hrf~66lfh ~UJITfh~6U~.d>a;rrffi 'e:rre;rrrllUJrr ®@' urfljb~mlJ"ffi6"6l6fT ~ffil~~~­
@fhrf>e;rre; £w8;a;~L 6T~fh ~Q)lDLJL.jffiGfr .r£16llru Jl)ITLLUULL6l!T? 

I. ~1)61TQS)a;ffilmLCUJUJ(T6l!r @)@ 

II. 6\JL..£1~8;@) @)@ 

III. LD~LQl@)@ 

IV. CffJfilUJ 6U6fTrr6fil8> ®@ 

(A) I LD!!JWJLD II LDL@LD 

(B) I LDWWJLD III LDL(B\LD 

(C) II LDrDIDJLD IV LDL@LD 

(D) I. II. III LDWi!)lLD IV 
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66 
I n C DI t 

III 5 of \\Ork for bll I J> ndC'nt on a 11culturnl tor 

I\ . Gm1 c ffi 1 nt com put t1on hov• thnt m quabt".> ha mer a d from 0 43 to 0.48 
(.2007) 

Choo e the correct ansv; r : 

(A) I and Ill are true ~ I, III and IV are true 
(C) I and II are true 0)) All four statements are true 

£wtE~L QJrT&iJUJ!bJ~ffi Wfe~ ~!]ITUJQ.jtb 

I. <dtnrrj;Sf> R..ffip;m:..@ C?..!Du~~uSlru (1999 2000) Jl>LLI4 ~mQ)uSlru 6'6l6\Js:rrUJ w!D~tb c!ll,,ar 
61bufr>lliuul...L SDLQ.Jll}.tEGlcS uri.J® (2007ru) 30%-'61@.!b~ 20% ®m!Dfe>~~ro~ . 

II. ey>~OOQ)lD LD!i>g)Lh .511fiGJ>m 6rrirfe11> 6'6lru6rrUJ~ru (2007) GQJQ')Q) Qa:ti.JuruircSm 57% rol@.li>~ 64% 
&l~cSiflPJ~QTQl~ 

III 3/5-j,~ Grumru G6li.Juruirc1£m "616\J6rrUJ~p;la>m p;u:n9 .@®Liu~ 

IV. a,)Qfl Ge;~GO)Qr Liii}. 8'LD~QrQ)lD &1006\j (2007) 0.43 rol@fr>~ 0.48 ~~a;rtluu~ 

6iflUJrrGIT 6'61G1lLuSl6f>QT Gp;rrJi;Q1D@8ia;GyLh. 

(A) I LDWI!)JLD III s:ill (B) I, III LD!DWJLh IV s:ifl 

(C') I LDJDI!)JLD II eifl 

67. Between the years 198 1 to 2008, the share of value of agricultural output indicates - , 
I. a decline m sha re of cereals 
II. an increase in the share of pulses 
III. an increase in the sha re of fruits a nd vegetables 

IV. overall increase in oil seeds share value 
Select the correct answer using the code given below 
(A) I only (B) I and III only 

~ I, III and IV only (D) I , II, III and IV 

1981-'61@,!i>~ 2008 QJQl!]uS)Q> ILQrQl QJ@Lri.ls;GlftQ) 6'61QJ61TUJ ILJDU~/JuSlQr LO~Ut.SJQr uri.J@j @J!Dlut.SJ@Q.J~ 

I. IDIT~lU uri.i® @36i>!D.!i>l!ilhrrru 

JJ. UlU~ Q.JQla;uSlQr Uri.J@) ..!91/Ja;ifl~llillirrQ> 

Ill. WWLD LDJDJJ)ILD a;rru'.Je;!Dle;GlftQr uri.J@j ~~&rtl~Sf>rTE.U 

IV. ~QiarG~nu 6'6lmllis;Glftoo GLOrr~~LDrrm LO~ui.SlQr uri.J® ..!91~cSifl~Sbru 

£aw Qe;rr@8is;uuL...@mro ®!Dl uSL...Gum Ge;rr~@ s:iflUJrrQT 6'6looLuSla>QT C:Sf>irJiiG1fi@B>e;GyLh 

(A) I LOL@Lh (B) I LDJDg)ILD III lDL@tb 

(C) I, III LOJD!J)LD IV LDL@tb (D) I, II, III LD!i>WJLh IV 
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68 . • Consider the following statement. Choose the correct answer from the codes given below. 
Assertion (A) : There is a decline m economic activity during recession 

Reason (R) : A sharp decrease in the growth rate of money su pply most likely causes a 
' decline in economic activity. 

(A) · Both (A) and (R) are individually true but (R) is not the correct explanation of (A) 

~ Both (A) and (R) are individually true and (R) can be a correct explanation of (A) 

(C) (A) is t rue but (R) is false 

(D) (A) is false but (R) is true 

t.SlmGLJ@t.O GLJrr8;.$111J~rn:!Jj Bi@~~ru Qs;rr6Wr@. a:ITllUrr~ GlSl~LmlU £aw ®!DlutSIL..@mGTT ®!Dho@a;Grfl6151@.ffi@ 
Gfbr'r,IBCJ~@ 

GL1615lll..JWJ~~ro (A) : Gurr@GtTIT~ITIJ t.Sl6irrm~L6l.J ~arm a:LDUJt.0 Gurr@mlTfblTIJ JDLGL1tq.8;ma; t.SlmEiMQ>Lll..JLD. 

B>rTIJQm'LD (R) : uQIN~m:luy GLJmir65l 6fl:!Jj~f)ru GJ!Du@tb snirrntnUJrrm ®mJD6l.J Gurr@GLJrr<'D 
Gurr@ffilT~ITIJ .(DL6LI tq.8;rna;6'>11J @>G!>JDB;®t.0. 

(A) (A) LDJD!PJLD (R) ~~uul...L QP~!Du5lro ~6Wr6'>LD ~~rrro (R)-~m~ (A)-6irr a:IT111Jrrm 61Sl101T8;e;t.O .airuQ) 

(B) (A) lDJD!PJ tb (R)-~~§J ~~uuL..L .aim61Slru a:rrl ~~rrru (R)-~m~ (A)-Qr 8'IT111Jrrm 61Slm8;e;t.0 ~t.O 

(C) (A) a:rrl ~mrrro (R) fb6Ll!PJ 

(D) (A) ~GLJl):)J ~mrrru (R) a:rrl 

69. Order the following states according to the agricultural Income Tax they paid 

(A) Assam, Jammu and Kashmir, Mysore, Tamilnadu, West Bengal 

(B) Jammu and Kashmir, Assam, Ta milnadu, West Bengai, Mysore 

~ J ammu and Kashmir, Assam, Tamilnadu, Mysore and West Bengal 

(D) West Bengal, Assam, Tamilnadu, Jammu and Kashmir, Mysore 

t.Sl6irr6U@t.O LDrr.@ruri.la;6'>w 6lS'l6Ll61TUJ GLJ@LDrr~ GUITl QB'~~~uuL..L ~~uumLuSlru GUITlma:uu@~§Ja;. 

(A) ~W61UrTtD , ~tDQP lDlDIDJLD a;rr~t.Or'r. ~LD@;ir. fbuSlwp;rr@ lDJD!PJLD GLnJD@> Q.Jri,Js;rrmtb 

(B) ~Lb@ s;rr~i.Dir, ~Giu61Urrili . fbuSlwp;rr@. GLn!iJ® Q.Jri.Ja;rrmt.O to!iJWJtb mtn®ir 

(C) ~Lb@ a;rr~i.Dir, ~Giu61Urrtb. ~uSlwp;rr@, mto@;ir lDJDWJLD aLn!iJ@) GLJri.Ja;rrmt.0 

(D) aLnJD® GUri.Js;rrmtb. ~W61UITLD, fbuSlwp;rr@, ~tDQP s;rr~ i.Dir LDW!PJ LD 6!>LD@"5ir 

70. India's economic growth rate in the tenth five year plan period was (2002 - 07) 

1. 4.5% 2. 6.5% 3. 8.0% 4. 7.6% 

(A) 3 ~ 4 

(C) 2 (D) 1 

u~fbrTGU§J reJ5fbrr~@ ~l...L~f)ru (2002 - 07) .@.ffi~11J rr61Sl6irr G urr@61Trr~rrlJ 6LIGTTr'r65l 65~tb 

1. 4.5 % 2. 6.5% 3. 8.0% 4. 7.6% 

w 3 ~ 4 

~ 2 ~ 1 
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71 Con 1d r th f, 11 \'W lllg st 1 rn n m I nd1 n r nnd choo e the • r t 

answ r u m th de given belo\ 

I 1 " 
m m 1 e produ ti n m .W I 1 l 

II. A 1 •mficant }ugh le~ I of fi d gr m pr du t1on w rlu v ·d 111 2011-12 

III The tock posit10n of food 1 am m the central pool 1s madequnte to meet the 
rcqmrements of targeted Pubbc D1str1but1on S ·stem, 2012. 

(A) I only (B) H only 

~ I and U only (D) I, II and III 

£w&n;~L iJ · ~UJ CQ.Jom · mtn~mw rurrMilUJlhl6>mm WJ!>t)l l]rru'.J;ii~ 6rflUJrra1 rolc;¥)LuSlmm 

CpirJ!>GPJ@MQ~tb 

I. 2011 -2012 ( ~i$le;uu c:&1m~6in utq.) c:&1WQ'Urrtb, t5e;rrrr, CLO!i>® QJrfiie;tb, ~rrr're;~L wJi>witb 

11...~~gut.SlgC~ili ~£1UJ LOrrJblruriile;m ~rfl.§111...!i>u~~uSIQ> QJQ'Tfr8:.§1UJa>L,!b@m~~ 

II. 2011-12 -ru R-61RJT~ lbrrQfhu e..d>u~~uSlru uSI& QP.$.$ltuLDrr8; Qlrufr86lUJmLfr>~mm~ 

III. LD~~uS'lru ®~B;s;uuL.L rL6m"~ ~rrQSfltu Q)&uSIQ!)LiLl C~.§1UJ uri.i£t.'...iq..6in 2012 "'~rrurrirut.SlmaT 
Jblm!D~ G6iUtu @UJru~rumru 

(A) I LDL@tb (B) II LDL@tb 

(C) I LDtDlPftD II lOL@tb (D) I, II LDW@W III 

72. Point out the wrong statement in the following : 

Statements : 

a . Indian National Congress was founded in December 1885 by Seventy - two Political 
Workers 

b. It was the first organised expression of Indian Nationalism on an All-India scale. 

c. A.O. Hume, a retired English ICS Officer , played an important role in its formation 

d. Thilak, an extremist used the safety-valve theory to attack the moderates in the 
congress 

(A) a (B) b (C) c 

£~.$B>~L B>(!!)~~8;8;'1f!Q) if>QJfDrrma>tf>6 BTL..tq.B; s;rr~t.Sl.$8;~tD 

e;®~~B;s;m· : 

<V!J d 

a . @,!b~UJ Ctf>6ltu s;rrri.J.$l'lQ\J 72 ~175\UJru ~mruQJfrs;grrrQ> 1885 iq...Jtbutfl'1> C~rrJi>roi6'6'18;8;uuL..L~ . 

b. ~~ @)ii~tu ~filtup;mp;u uJi>i61 JbfT@ (!J>Q9Ql~tD Gir@~§JQ'>l}'M c:&IOOLDMUULL (!Ptf>Ql lfQ')U 

c. ~w~ Gu!D!D ~r6J.$lC:QlUJ &i.61.G;TGi\> c:&1~B>rriflturrm A. O.~~ib @m~ Jblg)l~Q.1~'1> QP.$&1UJ 
uri.Je;rr!i>!J5laTrrr'r 

d. 8;rrri.J.$lg6lru @®fetb uSlp;QJrr~e;moo ~rr.$@6lJlb!i>® ~~l}'QllT~UJrrm ~QJ<'!;rT urr~s;rru1..1-QJrrQ)~ '1'681'!J.l 

Q<'!;rrmms;ooUJ u UJ68Tu@~mrrr'r 

(A) a (B) b (C) c (D) d 
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73 . • About whom did Holmes who is well known for his important work on the history of the 
Indian Mutiny has described as "a man whose name deserves to be even mentioned by 
Englishmen with gratitude and admiration". 

(A) Gulab Singh of Kashmir 

(B) Sir J ang Bahadur of Nepal 

<"1fl Sir Salar Jang of Hyderabad 

(D) Begam of Bhopal 

@p;~UJ8; s;Q)~~15u u!Drfil ~GUfr GT@~UJ i:91f61Sl6U C:jM:Jrn.O~ GTmuGUfr "~ru®~LUJ GuUJ~fJ 

~r6.J.$laruUJfrs;ro p;mrfilaUJrr@tb GU(!?brllDaUJrr@tb ®rfilutSlL C:ru6lilrr@tb" GT~WJ UJrTQ)IJU u!Drfil 8f\.,g)l.$l!Drrfr? 

(A) s;rr~u5~1J6 ~rr,[i>~ (§rurrufilffil 

(B) ap;ulT68>6fT6 a:rrfr,[t15 a:fr~ffil U$§1fl'r 

(C) re~1Jurr~68>156 aa:rr.ffi~ a:rra:rorr ~ri.J 

(D) aurrurr68>ru6 C:a:frjt~ C:us;tb 

7 4. Which one of the following was a reason for the failure of talks held at the Simla· Conference 
in 1945? 

The congress boycotted it 
The Viceroy was in different to demands of congress 

(A) 

(B) 

(C) The Dominion status suggested by the Viceroy was not acceptable to both Congress 
and Muslim League 
Jinnah insisted that all Muslim members of the executive council must be nominated 
by Muslim League 

1945-ru piL).i>~ filtbrurr LDrTpirTL.tq.ru C:wi:BJ rurrfr~~~s;ro C:torrru61Slu.Slru QPU:t).i>~!Ds;rrQT s;rrf)QRITLO 

£wM6lilrrLQJ!Dwiro GT~? 

(A) s;rrri.J.$117~ ~68>tb YJDM~~~~ 

(B) .g;rrffil.$li;~m (:.g;rrITl8;6r>s;s;~8;@)u Y!Dtburrs; 68>rufilf)rruJ piL.(t~ Gs;rr~L§l 

(C) .g;rrffil.tli;8itb, QPGTuGOLO ro8i(§tb. Q>QJ§li;rrl!J GLrrtDmlUJm ~Jt15Giu68>~ ~!Dw8; Qs;rrromrr~~ 

(D) ~L.61p,~~!D8i ®@61Slru C?....ro6fT ~©lutSlQTrrs;ro ~Q)QTQJQ)IJllltb C!P~rotb ro8i.$lQ)mCUJ .[blUJLDmtb 

Ga:l!JUJ C:ru~@GLDmWJ ~~mrr ~rDlGtJW~~UJ~ 

75. "The greatest Indian since Gautama Buddha and the greatest man the world has been since 
Jesus Christ". Who described Gandhi like this? 
(A) A.O. Hume (B) Dr. Pattabhi Sitaramayya 
~ Dr. J.H. Holmes (D) Mr. Norman Cousins 

s;rr,ft~68>UJU u!Drfil "Qs;6fT~LD y~~®Bis;@p;~ filJD.(t~ @)b~UJfr ~BJ .t1!]5lffi>~6tj8i(§Li i5l~mfr ~Qls;P,~ru fil!D.ffi!D 
LDml~fr'' GTQrWJ 8f\.!DlUJQ.Jfr UJ rrfr? 

(A) A.O.~~tb (B) Dr. uL.Lrri5l 6~rr IJrT~LOuJUJrr 

(C) Dr. J.H.C:!M)rrtb~ (D) Mr. p;rrrrLD~ s;filmw 
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76. fi l wm nd th m the cod . v n 

11 1u I JC'> 0 Jt r Iv d to protect th 

lk· n (H) lhn tu mmun 111 t 1\"o Mim::;t r 
nnd J C.: Neo t i J n ·d from the 

~ Both (A) nd (R) r tru (H) 1 th corr ctr plnnntion of (A) 

(B) Both (A) nnd 0{} arc true (R) J not the col'rcct cxplannt1on of (A) 

( ) (A) 1 correct (H) i wrong 

(D) (A) i rncorrcct (R) 1 correct 

i.Slmru®Lh ~IJ<ar@ QJrrc!!O)UJtbOOlb lh®~fJru G.srr~1©. 6rflUJrrm 6\SlmLG'luJ £C19 ®i@ui5lL.@roar 
®Jb'lu5@1£{;Tf)rol@,!i>§J ~rr.ffiGID@ : 

C::JD@-rolUJrr~ 9uu.ffi~U> 8 4 1950-ru oo.g;QUJ~~rrm~ .@ruGrurruufi>~Lh 
5lwurrarooLDuSlmnl6in urr~n;rrut5lJi>s;rrn; 1!_(!9QJrr.$aiuuL.1-~ 

s.rr9G11Gnb (R) .@ruGrunuufe~Lb .@Ji>iJ>IO>u,mrrci> s;@aHnu.1rra. ~~irB;s;uuL.1...§1 rurhis;nar ata>LD65fr&"ir 
LGll]61T~ (!P&ir~ LDJD~tb <:a;.51 Jf,l<!UJnO), ~ri.Js;cir lDPl~UJ &IOOLDS6ir u~"61'6>UJ 
@1Jn~QlrrLDrr G6uJ~Q!TrT. 

(A) (A) 1. 1!iJ!J)tb (R) @fJ~@tb 6rfl (A) 6'616in 6nlUJrr601 661m8;6'i.0 (R) 

(B) (A) lDlD!9JLD (R) .@IJ~@tb 6fl1 (A) 651m 6nlUJITQT c6lm6.a;LOruQl (R) 

(C) (A) B'nl (R) lbaJ!J) 

(D) (A) 5rflUJruw (R) srfl 

77. Regarding the Freedom struggle which of the followmg events is/are not true? 

(A) The Partition of Bengal was modified m 1910 

(B) The Moplah Rebelban took place m 1921 

(C) The Communal Award was announced in 1932 

flll/ CrippR Mission proposal on 1940 

"'fhfb!JIJ C::urrl]ITLL.~Q)IOU Gurr@HQJQ)IJ £wM•L ~Jb~ Jbls;w65l 1L~Q'llDUJITQTIOQ)Q>? 
(A) 1910-ru QJri.Je;rrmu i.Slrf1661mm LDrr!Di61UJQ'ILDMuuL.1...~ 

(B) 1921-ru LDrrui.Slm'ilHirrB> a;rus;tb J£1a;w.ffi~~ 

(C) 1932-ru ru®u4QJrrrflUJ ~~6.6.@ ~(;Tf)B:.&uuL.1...~ 

(D) 1940-ru .i'llfluw ~~.$®@ c&1mwu4 

78. Fourth Mysore War was happened in the year 

(A) 1806 (B) 1857 <l1fl 1799 (D) 1798 

.u>rrms;m.b OOLD@;rT C:urrr'r .u>m1...Qu!D!D ~~@ 

(A) 1806 (B) 1857 (C) 1799 (D) 1798 
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79. . The LCM of a 3 + b3 and a4 
- b4 is 

(A) (a3 + b3
) (a - b) (B) (a2 + b2

) (a - b) 

(<?) (a+ b)
3 fl"J (a3 + b3

) (a2 + b2
) (a -:JJJ 

a
3 + b3 LDJD!J)Jt.b a 4 

- b4 -m t..Oa:filw Gurr§! LDLrlil® 

(A) (a3 + b3
) (a - b) (B) (a2 + b2

) (a - b) 

(C) (a + b)3 (D) (a3 + b3
) (a2 + b2

) (a. - b) 

80. The volume of a wall is 0.576 cu.m. The height of the waU is six times its breadth and length 
of the wall is twice the height. Then breadth of the wall is 

(A) 22 cm (B) 24 cm 

, 20 cm (D) 18 cm 

~(19 8i6l..lW!J5lm a;m~GTT6l..J 0.576 a;.J) ~8:8i6l..llD!J5lm ~lUIJlD ~a;~~~pJU aurrru 6 LDLffil@) ~8:8iQJ)D!]5lm 

.ffimt.O ~tulJ~~~u ~urrru .@® LDLrlil® 6T6llllru ~8:s;6l..l!i:J!Dlm ~a;61)t.b 

(A) 22 Qqu) (B) 24 Q~i.O 

(C) 20 QqJ) (D) 18 QqJ) 

81. In the following diagram which one is differen t from th e other diagrams 

rrrr 
1 2 

(A) 1 

(C) 3 

rrrr 
1 2 

(A) 1 

(C) 3 

+ 
3 

+ 
3 

29 

4 

~ 2 
(D) 4 

4 

(B) 2 

(D) 4 
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82 l'md h 1111 m numb r rn th 

7 25 61 1~1 '2ll 3-9' ? 

:\) 41 B} ) 12 

1 0 D () 

LG)~QJ('!ltb Q~:TLrfl 

7, 25, 61, 121, 211 , 337, ? 

(A) 418 (B) 512 

(C) 50f> (D) 180 

83. Find the sum of the first 20 terms of the series 12 
- 2'l + 32 

- ,f2 + 52 
- 62 + ..... 

(A) - 120 

(C) 2870 

<V'ft - 210 

(D) ·120 

i 2 - 22 + 3i - 4 2 + 52 
- 6 2 + ..... 616MJD GfbrrLrllru &fbru 20 (;T~s;mlm 6n@p,ru o;rrEilRrrs;. 

(A) 420 (B) 210 

(C) 2870 (D) 420 

• 

84. The sum of the digits of two digit number is 11. When the digits are reversed the value of 
the reversed number is 9 lcss than the origmal number. Find the original number 

(A) 56 ~ 65 

(C) 99 (D) 70 

~® @r;Eillirr@ @Q)d;s; GTGRrr~Qr .@roB;s;ri.Ja;mJQr 6n@p>ro 11 @Q>B;a;ri.Je;Qi- @u.Drr!i>!Dl ..!)lQ>LDB;®Lh Gurr~ 
£}Q>Lffi@)LD GT~ QPsb6lf>~lU (;T~Q)Q!i!T ~L 9 @)61l!D6tf Grdlro . ..!>lfbfb ~EillirrmEm.9> s;rrEillirr. 

(A) 56 (B) 65 

(C) 99 (D) 70 

85. Of the following tick the one that does not belong to the rest. What is that? 

(A) AIQ (B) BJR 

(C) CKS ~ DMT 

£aw Gs;rr@ffis;uul....L .!Drrm$lru sim1:91 LDl....@Lh LD6J!DrurfJmJD6 Ga=ir,(bfb~ ,.!)lruQ) . ..!>l~ "'~? 

W Af Q ~ ruR 
(C) CKS (D) DMT 
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86. . Percent profit earned by a company over the years is given in the following graph using the 
formulae% Profit= Income - Expenditure 

75 
..... 
!.o:l 

2 65 
ll.. .... 
0 

'#. 55 

~~~~~~~~-xJOO 
Expenditure 

1995 1996 1997 1998 1999 2000 

Years 

If the income in 1998 was Rs.264 crores, what was the expenditure in 1998? 

~ 160 crores (B) 145 crores 

(C) 104 crores (D) 185 crores 

~® a;LbQu~ugjro @rorru 8'~65~r6.Ja;m L5lro6l..l@Lb ®~~IJ"~m~u uUJrou@~~. £<:19 6l.JQ}flULLDrra;S; 

Qa;rr@S;a;uuL..@mGIT~. ®~~IJ"Lb % @rorrutb = 6l..l<!!)LDrTQTLb - Q<'fQ>Q.j x 
100 

75 

·9 
~ 65 
@ 

'#. 55 

Q<'fQ)~ 

1995 1996 1997 1998 1999 2000 

1998 ~Lb ~~tq.ru 6l..lQ!JLDrrQTLb 264 C:l6rrtq.a;m 4iT~ro ..!91{Dff> ~~tq.~ Q<'fQ)~e;m 4iT~m? 

(A) 160 C:e;rrtq.e;GTI- (B) 145 C:e;rrtq.s;Gil 

87. The sum of three digit natural numbers which are divisible by 8 

(A) 61370 \jJI'!" 61376 

(C) 61763 (D) 61673 

a ~ro 6l..l@>u@Lb ,.!91mm~~ ey:>ro!D'roS;a;@UJro 4iT~a;ffi'lro &.@$liro 

(A) 61370 (B) 61376 

(C) 61763 (D) 61673 
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(A) 

(B) 

(C) 

(D) 
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89 .• Count the number of triangles in the figure 

(A) 17 

(C) 15 

(A) 17 

(C) 15 

(B) 13 

~16 

(B) 13 

(D) 16 

90. If the price of a book is first decreased by 20% and then increased by 20% then the net 

change in the price will be 

(A) No change 

(B) 5% increase 

¢ 4% decrease 

(D) 10% decrease 

~® Lip;~~~ 6'6lmQ>UJrr~~ QP~Q)lru 20% ®m!DB;s;uuL.@ LS1~ 20% 6'6lmru ~!i>!DLiuL.Lrrru (!Ptq..6'6lru 

..!91pj~ 6'6lmQ>uS)Q) ~Ji>u@Lb LDrrJi>!Dp;~~ e:~ffi~l.D 

(A) ~.® LDrrJD!DQPLD @rumQ) 

(B) 5% ~JD!DLD 

(C) 4% ®mJDGtj 

(D) 10% ®Ql!DGtj 
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• 

91 1 nd th m1 m numb r 

5 

ll 2 

(A) 8 

~ 9 

(C) lO 

(D) 12 

5 

11 2 

(A) 8 

(B) 9 

(C) 10 

(D) 12 

92. A : B = 5 : 8 ; B : C = 24 : 30 

then A : B: C 

(A) 5: 24 : 30 

~ 15 : 24 . 30 

(C) 8 : 24 : 30 

(D) 5 : 8 : 30 

A : B = 5 : 8 ; B : C = 24 : 30 

Gil"Qflro A : B : C 

(A) 5 : 24 : 30 

(B) 15 : 24 : 30 

(C) 8 : 24 : 30 

(D) 5: 8 : 30 

ACFGS 
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93. • The next number in the series is 

3, 10, 24, 52, 108, --

(A) 230 

(B) 210 

; 220 

(D) 240 

3, 10, 24, 52, 108, --GTQT!D Q~rrLillw ~@)'hp> GT6Wr 

(A) 230 

(B) 210 

(C) 220 

(D) 240 

94. Find the area of a parallelogram whose base is 9 cm and the altitude (height) is 5 cm . 

(A) 44 cm2 

(B) 40 cm2 

~ 45 cm2 

(D) 24.5 cm2 

(A) 44 6.G6.tfl 

(B) 40 6.Ge.LE 

(C) 45 6.Ge.ifl 

(D) 24.5 e.Ge.tfl 
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95 A nd B ..., 1 km to th r 
0 d iy In h v. m n) d 

(() 0 

n fim h I 1 of \\ ork m 20 day wh1l B alone can d lt m 
n A al n fm1 h th work? 

~(!!) (:QJQ)Q)Q')UJ A l1.4l0, B l4l0 c:.~HTJI>~ 20 Sf>!TLc$cllQ) (!Plq..UUITIT U)UJ B LO @th 

30 p-,rrWbGrtlru @tquurrrr a~ JDtD <:ruQ)Q)mUJ A lOL@lO QP~ (if{i>{i>mm JblT 6JQ ~L.O 

(A) 20 

(C) 50 

(B) 30 

(D) 60 

96. If 0.35: x: : 100: 0.2 then x is 

(A) 7 

(C) 0.007 

0.35: x: : 100 : 0.2 '1'~Q> x ~m~ 

(A) 7 

(B) 0.7 

(C) 0.007 

(D) 0.0007 

(B) 0.7 

VJllf" 0.0007 

97. If 30 men can do a piece of work in 24 days, in how many days will 12 men do it? 

(A) 30 

(B) 44 

,pl' 60 

(D) 76 

30 C:urr C:s:rr.ffi~ ~<!!> C:QJmQ)Q'lUJ 24 p;rn:.s;mlru QJ>tq..HrrQ> ~C:tf> C:QJQ')Q)Q')UJ 12 C:urr C:HrrJii~ (jfH>Q'lm 
Jl>ITLdimlru QJ>lq..LIUITITc$Qr? 

(A) 30 

(B) 44 

(C) 60 

(D) 76 

ACFGS 36 

www.upscstudymaterials.com



98. Two cones have their volumes in the ratio 3 : 1 and their heights are in the ratio 1 : 3 then 

the ratio of their radius is 

(A) 9: 1 

(B) 27: 1 

.Jlllf 3: 1 

(D) 1:3 

@IT~© &tbya;ffilm a;m ~m61Slm 61Sl.$l151.b 3 : 1. al.Owtb ~Q)QJa;Qflm 2...lUIJp;~m 61S1£151.b 1 : 3 GrQf\Q.> 

~QJ !D JDlm ~gri.Ja;Qfl m 61S1£151.b 

(A) 9: 1 

(B) 27: 1 

(C) 3: 1 

(D) 1 : 3 

99. The heights of two circular cones are in the ratio 2 : 3 and the perimeter of their bases are 

3 : 5. The ratio of their volumes, is 

(A) 2: 5 

(B) 6: 15 

~6:25 

(D) 3: 5 

@® 6l.JL.L.$ &tbya;rotm SLlU1Jri..ia;61f'lm 61Sl.$l~tb 2 : 3. ~6l.l!DJDlm ~iq.B= Bi!DJDmQJa;ffilm 6151.$1~1.b 3 : 5. 

~6l.l!DJDlm a;m ~m6lJ6>ffilm 61Sl£151.b 

(A) 2: 5 

(B) 6: 15 

(C) 6: 25 

(D) 3: 5 
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100 \\ht h f th fi 11 wm p 1r 1 r I t1v ly p11m number ? • 
(~ 1 >} 

.,r tlOI _ol) 

(C) (3, 9) 

(D) (17, 51) 

(A) (12, 15) 

(B) (101, 201) 

(C) (3, 9) 

(D) (J 7, 51) 

101 When any number is divided by 12, then dividend become 1/4th of the other number. By how 

much percent first number is greater than the second number? 

'(A) 50% 

(B) 75% 

(C) 100% 

VJl1f' 200% 

C:Pfbru ~~ 12 ~ru QJ@)u@Lb C:urr§J c:!Pl{hQr LO~u4@1J~LrrQJ~ ~Qiln'QJllflQr 1/4 urr&t.0 C'tb@)ili. C:Pfhru ~~ 

il'l~Lrrtb ~~m~ 661L ~t>fhmGST lf{h~{hLD c!>l~s;Lb? 

(A) 50% 

(B) 75% 

(C) 100% 

(D) 200% 
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10. The surface a rea of a solid semisphcre is 2772 sq. cm . Find its total su rface area. 

103. 

¢ 4158 

(B) 5544 

(C) 8316 

(D) 2772 

(A) 4158 

(B) 5544 

(C) 8316 

(D) 2772 

1 1 1 1 1 . 
1+-+-+-+-+- is equal to 

2 4 7 14 28 

(A) 2.5 

., 2.0 

(C) 1.5 

(D) 1.0 

1
111 1 1 .. 

+-+-+-+-+- ~~JD@) 6LOLO? 
2 4 7 14 28 

(A) 2.5 

(B) 2.0 

(C) 1.5 

(D) 1.0 
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101 

(A) 

(C) 

t\ I ~ 

) tre slstram 

(D) 

105. \\hen the heat 1s conducted from one place to another place without any medrnm , then such 
a proce of heat conduction 1s known a 

(A) conduction of heat (B) convection of heat 

(C) vaporizat10n of heat ~ radiation of heat 

QQ.luui.D ~1~h-~~roi®sr,~ w£DGwrr® @LUl!i>® @rudilp; u®uGurr®Gir f2ill'.Li$QJHb @mrbl u1JQ4i.b 
(Y>OO !!).$@) 

(A) QG"11uu8i 6.L-~~'° (B) QQ.Juua qrumi.D 

(C) QQ.Juu ~QSJUJrrp;Qi 

106. The potential a t which a si]icon diode starts to conduct is 

(A) 0.3V ~ 0.7V 

(C) 1.4 V (D) 2.8 V 

GTfbp> uSlmm@~p;~~'° fil61Sls;rrm ood~UJrrLrrQT~ s;L~p; ~IJ"Lbt.Sl.ii®Lb 

(A) 0. 3 V (B) 0. 7 V 

(C) 1.4 V (D) 2.8 V 

107. The angular speed of a planet revolving round the sun depends 

(A) on the radms of the orbit only 

(B) on the mass of the planet only 

(C) on both the radius a nd mass of the planet 

~ inversely on the square root of the cube of the radius of the orbit only 

~nlUJmm6 q-,!iJJDIB: s;wmroi QJ(!9Lb V>® <:a;rrQflm C:s;rrQllT C:Q.Js;Lb, 5rrfr[b~Q?Liu~ 

(A) ~p;m e;d>lPI 6\.ll..Lu urrmp;u5lm c!tl>l1~mp; LDL..@C:LD 

(B) ~]5~ C:s;rrmlm JblEil>!DEil>UJ IDL@C:LD 

( C) ~Ji;~ <:s;rrmlm ,!b) Eil>!D LD!i> ga Lb ~IJ Lb @176iR!Hi1>Lu..j Lb <!mir}b~ 

(D) a;!iJroi 6\.ILLLiurrg,p;uS1m ~IJ"~~m QPLbLDiq.u5lm QJrr.$s; C!Pru~~JD® GT~irQSl.$lp;u Gurr0~p;~~Qi 
LDL@C:LO 
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10. In the redox reaction xKMn04 + H2S04 + yH2C20 4 ~ K2S04 + MnS04 + H 20 + Z C02 the 
values of x, y and z are 

(A) 2, 10, 5 ~ 2, 5, 10 (C) 5, 2, 10 (D) 10, 5, 2 

xKMn04 + H2S04 + yH2C20 4 ~ K 2S04 + MnS04 + H20 + Z C02 g~!D 61Sl~Q!Tt6\ru, x, y, z-~ 

LO~u4 @~JDaUJ 

(A) 2, 10, 5 (B) 2, 5, 10 (C) 5, 2, 10 (D) 10, 5, 2 

109. Calculate the pH of aqueous sodium hydroxide solution of strength 0.1 N 

(A) 1 c9/113 (C) 7.8 (D) 0.1 

0.1 N ~JD~ Qe;rr~L a~mtq-UJtb Q)~LIJ!T.$Q)6@ .£rr8;e;E;IDIJ6rulw pH l.O~LJQ)U8; e;~8;.$l@a;. 

(A) 1 (B) 13 (C) 7 .8 (D) 0.1 

llO. The strongest reducing agent among the alkali metals is 

(A) K (B) Na (C) Cs 

a;rrlJ :Larurra;r&.Ja;GTflru uSla; G;\)ITlUJuSlM ~S;GnS!~w ~@8;.$lUJrra; Ga:LI.Jruu@tb :Larurra;tb g~ 

(A) K (B) Na (C) Cs (D) Li 

111. The nitrogen has a ------bond between atoms in a nitrogen molecule. 

(A) single (B) double 

~ triple (D) ionic 

~® m!!iLIJ~w ey:iQ)d;BCL1!5lru mJ!iLIJ~w c::!91@lla;a;~B;..tlmLaUJ ----- t.Slm~u4 :Lmm~. 

(A) ~JbmJD (B) ~IJLGJ>L 

(C) ey:iw,g;Jt (D) c::!91UJ6UTI 

112. Which of the following is used as an· insecticide? 

(A) aspirin "' gammexane 
(C) quinine (D) penicillin 

£a~ Ga;rr@d;a;uuL.LruJbroiffi ~8'61Ga;rrrurul ~~ 6fm 8n.Wf.s. 

(A) ~~t.SlITl~ (B) .sL.OrrB;aa:~ 
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113 \.\ hn h 1 wr n •l m • ( hloroll 
p 

IT 

lO 

c!)lc$1Tifl GI\) l:j,~006 ITCTTITG!T 

~Qu~UJrt ooru8;a;m 

114. Match th following : 
(n) Chlorophyta 1. Re el algae 

(b) Rhodophyta 2. Green algae 
(c) Cyanophyta 3. Brown algae 
(d) Phacophyta 4. Bl uc green algae 

(a) (b) (c) (d) 
(A) 2 4 3 1 
(B) 4 2 3 1 

~ 2 1 4 3 
(D) 4 1 2 3 

l.Slmru(!!JQJQT6UID6'>!D Qurr@~~s; . 

(a) ~C:mrrGl}'ITQ>ULLIT 1. 6)QJu4 urr6ls;ro 

(b) C:r;rrGLITQlULLIT 2. u6Q>6 urr51e;m 

(c) 6UJC:m1TQ'lULLIT 3. LIQ!>U4 urr6le;ro 

(d) C:uC:UJITQ>ULLIT 4. )$Q)us;tb urr6le;m 

(a) (b) (c) (d) 
(A) 2 4 3 1 
(B) 4 2 3 1 
(C) 2 1 4 3 
(D) 4 1 2 3 

115. Point out the wrong statement in the following 
~ Vitamm A prevents abortion in women 
(B) Vitamin K prevents bleeding 
(C) Vitamm D prevents tooth decay 
(D) Vitamin C prevents scurvy 

£~s;~L Si(!?~~S;s;mlQ) pjQJjDITmQ>p; e;L.~.$ e;rraiGTLSlMQ.jLO. 
(A) Q')QJLLuSlm A Qu~s;ml6ir 8i(!!Jc$Q>Q)QJQ)pj p;@.$.$ljD~ 

(B) Q)aJLLuSl6ir K@1J~p;uGurr6;me; p;@.$.ilp:J~ 

(C) m6\JL.LuSl6ir D uruGs:rr~Q>fJ.)Q>UJ p;@B;.ilio~ 
(D) Q>QJLLuSl6ir C ws;ir~Q>UJ p;@6;.$l!D~ 

ACFGS 42 

www.upscstudymaterials.com



lll The lowest layer of the atmosphere, in which the temperature decreases with increasing 
altitudes is called 
(A) mesosphere (B) startosphere 
~ trophosphere (D) thermosphere 

6l..JGlf'l LDooLru~~m a;65>L5l GTfe~ c::!91@8;®a;Glf'lro G6l..Juu~~m c::!9161T~ 12-UJfT~~!i>® <OJ!D!Drr!TGurrro LDrrWJLi:> 
(A) u5awrrGiutS1UJr'r (B) GiuLrrrraLrrGiutS1UJr'r 
(C) L.a1JrrCurrGiutS1UJr'r (D) Q~rraLDrrGiutS1UJr'r 

117. Match the following 

Blood cells Percentage/cmm 
(a) Neutrophils l. 20 to 30 

(b) Eosinophils 2. .1. to 2 
2 

(c) Basophils 3. 1to4 
(d) Lymphocytes 4. 60 to 70 

~~a) (b) (c) (d) 
3 2 1 

(B) 3 4 1. 2 
(C) 4 1 2 3 
(D) 1 2 3 4 

Gurr®P,~6.i : 

@1J~~ Q5rua;m <'f?i€5~Li:>/5l.GTLi:>.GTLi:> 

(a) .(bhyL.a1Jrr •0.t51G\> 1. 20 to 30 

(b) @aUJrr5lamrr.°.tS1ru 2. .1. to 2 
2 

(c) aua8'rr.°.t5lru 3. 1to4 

(d) Q$lt.0aurr65>B=L.&;m 4. 60 to 70 

(a) (b) (c) (d) 
(A) 4 3 2 1 
(B) 3 4 1 2 
(C) 4 1 2 3 
(D) 1 2 3 4 

118. The study of groups of organisms which are associated together as a unit in relation to 
:~~onment is called 
(WI[ f Synecology (B) Autecology 

f3 

(C) Gene ecology (D) Resource ecology 

~mJDl!D® aLD!i,)uL.L GToo~8;Q">a;u5\ru G~rr®uurra; ~alJ c::!91'1}&;rra; 6l..Jrr@Li:> ~u5\rflQTrf.Ja;~e;®i..0. c::!916l..J!DJDlm 
6iWWJLl!DPl~!D®Li:> @65>LaUJwrrm ~!D@SlQ'lm utq.~!!>JDll!..JLi:l tSlrfl66l!i>® GTmm GuUJr'r? 

(A) ~Q!jrfu..t'lQ"l~ULl ®~~UJru (or) t516'>~ULl ®~~UJGU 

(B) ~~UULL (§~~wG\> 

(C) LOIJUWJ ®~~UJGU 

(D) e!fJQ)r€ua;Glf'lm ®~@JUJro 
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119. fotch th follO\ung • ( ) IA-pro P.rcnmtion Da) L 27th June 

(b) \\oriel 'J'ouri m Day 2 30 ,Jcmu u:y 

(c) \Vorld )outh Day 3 27 S pt mb r 

(d) World U1 b t.e Dny 4 12 ugu t 

Cods : 

(a) (b) (c) (d) 

(A) 2 4 l 3 

(B) 3 2 1 4 

~ 2 a 4 l 

(D) 4 3 2 

Gurr~~& : 

(a) Q~rr@a,!!'Jmi.J ~@u4 p;rrm 1. 27 alf)~ 

(b) ILQl& 8itDl91Q)IT ~Qltb 2. 30 gjQT6\Jrrl 

(c) si_rua; @Ql"1T~ri' ~mtb 3. 27 Ga:uLtburr 

(d) IL Q)a; B'rT 8;a;'1)1}"(] ,!!'J ITuJ ,!I> IT Qr 4. 12 ~Biw@ 

®rb'ID@. 

(a) (b) (c) (d) 

(A) 2 4 1 3 
(B) 3 2 1 4 

(C) 2 3 4 1 

(D) 4 3 1 2 

120. Find out the wrong state ment : 

Utharakha nd disaster in June 2013 devastated. 

I. 2,000 villages wer e devastated 

IL 1,500 roads were washed away 

III. 150 bridges were da maged 

IV. S tate Disaster M a n agemen t Authority was formed in J anuary 2014 

(A) I (B) II (C) III ~ IV 

~6\.1.(DITEiGT 8.i@~Q>~i>; 8i~@t5lt.q-. 

2013 ~~6Uflru 1L~~IJ'8irr~1.q-ru 10J!Dul....L Cu11~QJrrQI~ 

I. 2,000 ~l}'rrtDri.JaiQ'lQT c:!91~~~~ 

II. 1,500 a:rrQ>rus;Qlro c:!91t.q-~~8: Qa:Qr!D~ 

III. 150 urrruri.Ja;Q>m =i_Q>Li2;~~ 

IV. tnrr)blru Cu1J'WJ6l.l CtoQ)rrQirrmLOSi ®@ ~QT6\Jrfl 2014-Qi G~rrLri.Ja;uuL..Lt91 

(A) I (B) II (C) III (D) IV 
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129 Which of the statement is/are correct? 

I. Operation Rhino in 1992 forced the ULF A to negotiate with Indian Government 

II. The biggest threat to the Indian Govt. is the United Liberation Front of Assam 
(ULFA) 

III. Pakistan supported these militants 

IV. ULFA were attempting to cross the line of actual control 

~ Iandll (B) III and IV (C) II and IV (D) I and III 

£wa;a;~L &i.!iJroiB;a;ffilru !Or~/ !OfQ)QJ 6ITIUJrrm63>ru? 

I. 1992-ru Jf>L~uul....L ·~IJGGam p>Lru~.9;Q>a;' (G1Jrr8>a;u u6Wfti:> p>LQJ~d;Q>a;) :.l....Gi>urr 

~6\S11J6UIT~8i~Q'T 6lDIJ6tD Q5ti..J~ Qa;rrffi~LDITroJ .@Ji;~lLI ~IJ8i QJQSllLj!J)J~~llJ~ 

II. .@,ffi~UJ ~f'Ja:rrri.Ja;~~!D® uSla;uGuITIUJ ~6s;WJP:;p;60rre; ~ruurr ~ffim60Tir 

III. urr£Giufbrr6U'r .@.ffifb ~6lS1f'J6lJrT~e;~6;® ~fbf'J6lJffil6;.$)JD~ 

IV. ':.l....ruurr' .@Ji;~lLI ~ru6ID60UJrrm 'Q>60GUT ~Li e;~l....Gf'Jrr~ro' e;L.95e; QPUJ6>618;6ilJD~ 

(A) I LD.(il!J)tt.D II 

122. Which of the following statement about sports is incorrect? 

I. Indian .follow a variety of sports including field hockey, Soccer and Cricket 

II. Soccer has a keep following in a number of big cities, particularly Kolkatta, where it 
is a major sport 

III. India's National sport is Hockey 

IV. During the Hockey season, Test matches with Pakistan have a particularly strong 
following as the rivalry is intense 

(A) II and III (B) I and II ~!Valone (D) III and IV 

6\S1~mlUfTLQ)LU urt>!J51UJ £w6i8i~L &i..(il!J)J8;a;61f)Q, !Of~ p>6lJJ!)rTm~7 

I. .@Ji;~UJire;ffi e;m · ~rr.95£, a:rr8;a;rr LD.(ilroJti:> .$1ITl6;Qa;L. Gurr6UTJD uro 6lS1mmUJrrl....@8;a;mm 

6lS16') Q'TllJ rr@$16UTJD ~rr. 

II. a:rr8;a;ir 6lS16IDmUJrrL....@ Qe;rrrue;~fbrT Gurr6UTJD QuITIUJ Jf>dif'Jri.Ja;ffilru ~if,Ja;1.0rra; 6lSIQ'lQ'TUJrTLuu@$1JD~· 

GJQQT~ru Qa;rrrua;~p;rr6\S16Ur &8;£UJ QSl~mUJrrl....GL a:rrB>e;irp;rrm. 

III. .@Ji;~UJrr6i5'16Ur G~UJ GlSi~mUJrrL.@ ~rr8;£ ~@)ti:>. 

IV. ~rr6;.$1 GurrL....~ p>Q)LGu!J)tt.D a;rrQ)~~ru, GL~L. 6\S'IQ)mUJrrL.@a;m urr6il~~rT@!Lm QSIQ)mUJrr@ti:> 

Gurr~ G~rrL....~ ~~a;t.D .@(l9B>@>Gt06Urup;rrru ~G6lrrs;ir ~Q)p> s;6l.J6afluurr. 

(C) IV t.0L.@ti:> 

45 

(D) III LD.(il!J)JtD IV 
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E:l.S1 •'88ft UJQ} c:!'tbuJQ.l Jbla>Q)UJ rii.Ja;mrolJ..l Lb ~~ <:!>! mLDjb~mm .@ Lrii.J a;mmlJ..l Lb L5)Q1QJ(!!)LD ®1151ID@a;mm8; 
Qs;rr~@ 6l5lmLUJ'1fl : 

~li.JQ.l Jb1GflQ)UJrf.l8im .@Lrf.la;m 

(a) .@Q\>C!I] IT ~ Q'lQSGT 8;C:a; IT Qr .@ Q')Q) UJ LO 1. ~c$lD~ITUIT~ 

(b) 6'15la;l]Lb 61Tl]ITU rrti.J 661 •QQJQfl Jbla>Q)UJ Lb 2. ~~rflC:s;rrL..Lrr 

(c) 6'15l•QQJQfl uUJmurrL..@ JblmruUJLb 3. ~(!!)QJmJi>~y IJLD 

(d) SHAR JblmruUJLb 4. Qurt.Js;e<!!i 

®IJ51tn@ : 

(a) (b) (c) (d) 
(A) 2 1 3 4 
(B) 4 3 1 2 
(C) 3 1 2 4 
(D) 2 3 1 4 

124. Which is the National Heritage Animal of India? 

(A) Horse ~ Elephant 

(C) Tiger (D) Cow 

.@jb~UJrr66lm C:~UJ a;Q)rr#.Jrrl]u Gu(!!ia>LDUJrrs;.9; &(!!ip>Liu@Lb QSlQ>riiJ® "1'~? 

(A) ®~ml] (B) UJrrmm 

(C) 1.1rol (D) ua; 
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125. Which one of the following departments does not comes under the Union Ministry of Health 
and Family Welfare? 
(A) Department of Health and Family Welfare 
~ Department of Population Control 
(C) Department of AIDS Control 
(D) Department of A YUSH 

L5lmQ.J®QimQ.J!f>rotGir ~.ffi~ ~Ql!!l LD~~UJ s;s;rrfhrTIJ tn!f>WJLb ®@Lbu]Dro ~mtn6a=~~m £~ @roooro? 
(A) s;s;rr~rrlJLb tn!f>WJLb ®@I.bu jbQ) ~oo!D (B) tn6>s;Gir Gf1jrrQ>s; s;L.@uurrL.@ ~OO!!J 
(C) ~uJL6iu s;L.@uurrL.@ §JQ'l!D (D) ~lLI~ ~m!!l 

126. The Prime Minister, who established Kudal Commission of Inquiry against NGO's is 

127. 

13 

(A) Dr. Manmohan Singh (B) Rajiv Gandhi 
~ Indira Gandhi (D) Narendra Modi 

~IJ8i a=rrlJrr GtJ>rr~@ ,!£lgHQ.Jmffils;®6>® (;f~IJrrs; ®Lrrru 6lSla=rr1JGJ>~ ~oo~UJ~m)2) ~!f>u@~~UJ i.Sl1J)2)LD 

tn,ffi~ifl 
(A) LIT6>Lir. tD6M(glDITB;Qr §}ri.J 

(C) @,ffi~IJIT s;rr.ffi~ 

Match the following 
Name of the NGO 

(a) Child Relief and You 
(b) Pratham 
(c) Save the Children 
(d) Evidence 

(a) (b) (c) 
(A) 3 4 2 
(B) 3 2 1 
(C) 1 2 3 

~ 3 1 2 

Gurr®~~a;: 

~IJsr a:rrlJrr .ffil!PfQ.J6UT$h~m GuUJir 
(a) . GJ>a:ruL. iflQ$1.·.u ~~L. lLI 

(b) i.Sl 1J)2)1TLb 

(c) Cs:6i.J ~ 6lruL.f}'m 

(d) (;f 6lS} Q LQr6i\) 

(a) (b) (c) 
(A) 3 4 2 
(B) 3 2 1 
(C) 1 2 3 
(D) 3 1 2 

1. 
2. 
3. 
4. 

(d) 
1 
4 
4 
4 

1. 

2. 

3. 

4. 

(d) 
1 
4 
4 
4 

Reports 

(B) @IJrr~GiJ s;rr.ffi~ 
(D) fbC1J,ffi~1J Ctnrrur 

Annual Status of Education Survey 
State of the World's Mothers 
Basic Amenities in the Schools in India 
Human Rights 

~!!518;Q>a;s;Gir 

~~@ s;ru61Sl s;m~uJQJ ,!£lmro 

:Lros; )2)1TuJs;mlm .i£1ooro 

@.ffi~UJrr61Slru uGirmls;mlro ~uruuQ>L Q.Js:f; 

tn6Ufl ~ tt_iflQ) lD<'J;Glr 
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128 

129. 

(A) 

(B) 

(C) 
und u nt 

~ Pr v1 ion ofhou e 1t 

fi m f M h tm G ndlu N tlannl Rur 1 Em pl nt 

tSlmQJ@QJQTQJjDgJIGT C'iTfblfi ~m~ LD<'£rrp;u:m q,rrlblJ C:~UJ flSi C:rumrururrUJUL.1 C!..gllj;IUJ u4 6LLtb 
2005 m 8lwuuU>6tb@ruQ>ru? 

(A) e!..nla>LD ~11tuum1_.u5lrurr6rl GruQ>ru ru11trumwu1.4 

(B) C:JI>1Jtb ,t;lrr u5l6xliuuL.i__ LWJj;IUJmlu4 

{C) Ul]QJQ)rT6>1£UULL. j;}LL(Y>QljD 

(D) Gfi@s;~&a;rrm j;IL.Ltb 

Match the following peaks with the respective mountain ranges. 

Peaks Mountain Ranges 

(a) Moscow 1. Andes 

(b) Broad 2. Himalayas 

(c) Annapurna 3. Karakoram 

(d) Aconcagua 4. Pamirs 

(a) (b) (c) (d) 

~4 3 2 1 
(B) 4 .2 3 1 

(C) 1 2 4 3 
(D) 3 2 4 1 

8l51]rGJ5Qr wmru~G~rrLrr a;m 
(a) wrrwC:s;rr 1. ~6RrutGiu 

(b) i.Sll]rrL. 2. @ lDu.J LDQ>Q) 

(c) ~mm~irQTrr 3. a;rr~rrl]tb 

(d) ~Qs;rrm e;rr®C:ru 4. u rri.5ir 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 4 2 3 1 

(C) 1 2 4 3 
(D) 3 2 4 1 
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Which of the following is/are wrong? 
I. Kisan Credit Cards for short term credit to farmers 
II. Micro-Finance for Self -Help Group (SHGs) 
III. Compreh ensive Crop Insurance Scheme was started at 1985 
IV. NABARD provides loan for housing sector 

(A) I only (B) II only (C) III only ~ IV only 

t5lQi6'l..l(!96'l..l~6'UJD!!)JGlr ~6'l.JJ!)ITQTffi6'l..l 6T~/6Tffi6'l..l? 

I. 61S16'l..l8'1TUJ $LQr ~LffiL @)!l)l£UJ e;rrru <$LffiQT GIS16'l..l61Tu5le;~6;@) ~GTfl6i.$1!D~ 

II. MIDJe;LQi LDe;GTflrr 6iUJ ~~GlSl ®@6ia;~6i® ~ml6is;uu@.$1!D~ 

III. ~®rfil£ffiGR!TJi'>~ uu5lrr UIT@$ITUL..j a;rrutJ@ ~L...Ltbl985u5lru G~rrLrfila;uuL...L@ 

IV. !f>UITrT@ 615L...@ 6'l..l6~ ~Q'J!!)6i@) ffiLQr &im16i£JD~ 

(A) I LDL@tb (B) II LDL@tb (C) III LOL...@tb (D) IV LOL...@tb 

131. Match List I with List II and select the correct answer using the codes given below the lists: 

f3 

List I List II 
(a) Disinvestment 1. Foreign Firms 
(b) MNC 2. Selling of Govt. Shares 

(c) BOP (Balance Of Payment) 3. Planning Commission 

(d) Dr. N.J. Kurian 4. Foreign Trade 

(a) (b) (c) (d) 
(A) 2 4 1 3 
(B) 2 3 1 4 

~ 2 1 4 3 
(D) 2 4 3 1 

6'l..lnlQ'le: I ~LQi 6'l..lnlQ'Ja: II-Q'lQTU Gurr®~~ 6'l..lrrlffia:e;~d;@i .$~ G.srr@S;a;uul...@Gi"rm G~rr@iut5lro1®fe>~ 
s:rrlUJrrQT 661Q'lLu5lQ'lQT~ Gp;rrl~ Ge:u'.Js;. 

6'l..lrflffis: I Gl.JrrlQ'ls: II 

(a) Urfil@) 66lru6i@)p;6i> 1. ~UJru )DrTL@ .ffilIDJ6'l..l6UltD 

(b) UQrQTITL@ Jbl!1)16'UQTLD 2. &il}"§}Qr Urfil@)ffiQ'l~ 61SlJDU@ 

(c) &iUJ6i>!f>rrL...@ Gs:~~JBlQ'Jru 3. ~LL@)@ ,,,. 
(d) Dr. N.J. @irrlUJQi 4. &i UJ 6i> )D rrl...@ 6'l..l QSnfl e;tb 

(a) (b) (c) (d) 

(A) 2 4 1 3 
(B) 2 3 1 4 
(C) 2 1 4 3 
(D) 2 4 3 1 
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132 Anti 1 H 1h\ d by • I d 

c 
(D) 

.@1J u5l ru<::QJ t?J lO ID ID 

(A) mSf>IJITLJIT C:uL. LD 

(B) Q~a> Cu · Lfl1 p;lg)IQJQILD 

(C) Qur&Ja;~® C:uL..Ltfl Jbl!J)lrumt.0 

(D) (!J>t.i>Q>U C:uL.L.Ol Jbl!!)IQJQTt.i> 

133. The cientists of which country have created the first 3D map of Italy's PISA tower? 

<-*1 Australia (B) Italy 

(C) France (D) Germany 

@~rrrol Jf>ITLutQr Q)U61T C:s;rTl . .jlJ~Gnfh Q;Pfhm Q.Pp;"5lru Q;PUUOlLOrrQaT8; a;rrL...fl QJQ)l]UL.lOITO, Q..@aJ ITB>&IUJ 

661~(§1Tafla;m '1"JbJf>ITLOOL.S errri"fr>fhruri"s;cir? 

(A) 4Q\l~Cry"51UJrr (B) @~fhrrrol 

(C) LSlqrrQTQu (D) Q~rrLD~ 

134. The name of the Gene developed m 2013 by the Jawaharlal Nehru University's School of 
Biotechnology that restricts cancer is 

(~ SC02 (B) SC03 

(C) SCO (D) RN4 

~QJ~rrQ)rrru C:Jf>® urua;Q'lQ).$ s;Ws;$5~m 1LuSlrflUJru GfhrrWJru~L..uP> ~m.(DUJrrru 4!i>WI Cp;rrmUJ.$ 
B>L..@uu@~ 2013 Q> 11-@rurr.$s;uuL..1- LDIJU~6"61Qr GuUJrr 
(A) SC02 (B) SC03 
(C) SCO (D) RN4 

135. Piccard, the first person to operate a intercontinental flight using solar power belongs to 
which country? 

(A) North Korea (B) South Korea 

(C) Germany ~ Switzerland 

@fhm Q.PfhrolQ> a;~1-rt.Js;158;.$lm1-C:UJ ~iflUJ e8;~ (y)Q>t.O 6'61LDrrmP>mfh G6~P>~UJ LSlB;a;rrr'r@ ""sbJf>ITL(;W)L.9: 
errr'r)i;{hQJ r'r? 

(A) Q.11-Qs;rrtflUJrr 

(C) Q~rrLD~ 
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13. The parts of old huge river in Mars image was captured and released in 2013 by the space -
Agency of 

137. 

138. 

139. 

(A) USA's space agency 
~ European space agency 
(C) Asian space agency 
(D) Australian space agency 

Q56i.J6l.Jrrti.J .$l1J~<'h~~ru a;rrQAITuuL.L GunlUJ uG6>~UJ ~J.i>!J5lm u®~s;Q>w 2013-ru uLLi> t.Sltq.~@ 

G6l..IG'lflu.S1L.L GlS'l~GGl..lGTfl .@WJGl..lmLi> 

(A) <:!9!GLOrfl8;s; m8;.$1tu p;rrL.@ GlS)~QGl..lGTfl ,!b)!!)JGUmLi> 

(B) ma1Jrruurr6lSlm 6lSl~Q6l..lG'lfl ,!b)IDJGLl~Li> 

(C) ~elUJrr6lSlm GlS)~QGUG'lfl )£1!1)J6l..l~LD 

(D) ~w~a1JrolUJrr6lS'lQJ GlS'l~GGl..lG'lfl ,@.IJ)IGL166rli> 

The LADEE spacecraft launched by USA was for 
(~ Exploring moon (B) Exploring mars 
(C) Weather forecasting (D) The defence purpose 

<:!9!GLOrfl8;s; mB>.$lUJ p;rrLLfTID ~Gl.JUULL 'LAD EE' GlS)~s;roli> ~QJUULL~Qr Cp;rr8;s;Li> 

(A) s:Ji;~11m ~l}'rrti.Jif§)B;e;rre; (B) Qs:6i.J6l..lrrll.J ~1Jrrti.Jif6)8;a;rrs; 

(C) Gl..lrrm!Q'lro QPm~!]516lSlui5lJ.i>a;rrs; (D) urr~s;rruy Q~rrLrrurra; 

The river that joins Jhelum at Muzzffarabad on .R right bank is 
(A) Ram ganga ~ f Kisha ganga 
(C) Pen ganga (D) Kali 

Qj)S:ITUl}'fTUfT~~Q) ~Q)~~~ GlJQ)~ 4lD!Dri.J.SQ>IJu.S)6\>@Q>(iRTu...jlD @G6>QAIT p;~ 

(A) l}'fTLD e;ri.Js;rr (B) .$15 s;ri.Ja;rr 

(C) QuQJ e;ri.Je;rr (D) e;rrG!Tl 

In which district of West Bengal the Chittaranjan locomotive works is located? 
(A) Baharampur (B) Bardhaman (C) Puruliya <J¥1 Burdwan 

CLD!D® GL1ri.J.s LOrr,!b)Q)~~m ~~~ LDrrGl.JLL~~ru 61~p;1J!@)s:m @1Ju.S1ro G;r!@)~m G~rrWlQ)e;Li:> .:!9lmLDJii~mw~? 

(A) u.sl}'Li>~rr (B) ui'rfbLD~ (C) L1®6lSIUJrr (D) yrr~Gl..lm 

140. The first National Park in India was 
<1'11 Corbett National Park (B) Bandipur National Park 
(C) Rajiv Gandhi National Park (D) Indira Gandhi National Park 

@fe~UJrr6lSlm QPpJID ap;61tu \d.ri.Je;rr 
(A) i6rrl'rGuL. C~61UJ khri.Js;rr (B) u.ffi~khrr Cp;eltu ~ri.Ja;rr 

(C) l}iT~Gi.J e;rrfe~ C~61tu khri.Je;rr (D) @Ji;~IJrra;rr.ffi~ C~eltu kJ,rfila;rr 
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141 Wlu h i n t h u fi t km 

( \) T-u nlrol th mov m 

1 u n rul rn 4 ( H C • 
f th mpu 

(C) 1 

<1 To coll ct non 

4 

<rr~Q.Jruru? 

(A) LDMm J!>LLDITLL~mlb u; • @LILI@~~ 

(B) .@IJrr ru~wa;rroo (Y>Q)U QLirr®mar s;Qm8;6JL 

(C) LDMcllm QLirr®mrr~rr11 rum~6tl~6. s;Gm.$.ilL 

(D) 6LOLDWID Q.Jfil QJ@'J~S.s; 

1·12. Arrange the visi t of the fo llowing foreign travellt•rs to India in ch ronological orde r. Choose 
your a nswer using the codes given below. 

I. Marco Polo 

II. N1k1tin 

III. Ibn Battutah 

IV Nicolo de Conti 

V. Abdur Razzak 

VI. Barbosa 

~ I, III, IV V, II, VI (A) III, V, IV, II, I, VI 

(C) VI, II, I, IV, III, V (D) V, III, II, I, IV, VI 

L.SlmQJQ?LD ..!>llU6UJ!irrL....@u LillJ~s;61flQi .@.ffi~ lLI s;rrQ) 6UQ?ms; GU films:uLI@~~.$ £<:~ Qs;1T@8;6iuul....@mw 

G~rr®utS1~®.!i>~ LJT.Js;ro GlSlaiLQ)UJ~ G~fil6\.l Gs:u'...Js;. 

I. LDITrrO;C:e.rr GLirrGQ)IT 

IL Jbl .il iq_ m 

III. .@tS1Qi LI~ ~IT 

IV. Jbl B;Gs; IT(:Q) IT Lq. c$ IT Qrtq-

v. c:!91U~rr l)~IT6. 

VI. LI ITITC: U IT QUIT 

(A) III, V, IV, II, I, VI (B) I, III, IV V, II, VI 

(C) VI, II, I , IV, III, V (D) V, III, II, I, IV, VI 
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14. Match List I with List II and select the correct answer from the codes given below : 
List I List II 

(a) Pali 1. Chemical Industries 
(b) Angul Talcher 2. Cotton textile and Dyeing 
(c) Kala Amb 3. Aluminium plant 
(d) Vepi 4. Paper and Electro plating 

(a) (b) (c) (d) 

(A) 4 3 2 1 

~ 2 3 4 1 
(C) 3 4 1 2 
(D) 1 4 3 2 

QJrftmc!F I LLm rurflQ'lc!F Ilt4Q'lm Gurr@~~ QJrflms:a;~B;® £~ Qa;rr@.$a;uul_@Qi-61T s:rflUJrrm E>IS)Q>u61Qlm 

Qfhrfl~ Gc!Fli.Ja;. 

QJiflms: I QJiflQ)c!F II 

(a) urrrol 1. @gc!FrrUJm Gfhrr~.[i>s:rrmQ> 

(b) ~rliianru fhruiHfrr 2. LI®~~ G.ffic!F~ LD.[i>!J)t!D c!FrTUJ~ Gfhrr~.[i>c!FrrmQ> 

(c) a;rrrurr ~t.Du 3. ~~uSl~UJ!D Gfh rr~.[i>c!FrTQ>Q) 

(d) Q.JrrutSl 4. e;rr-ilfht.D LDJD!J)ILD uSlQr f.b<£@ Gfhrr~.[i>c!Frrmro 

(a) (b) (c) (d) 

(A) 4 3 2 1 
(B) 2 3 4 1 
(C) 3 4 1 2 
(D) 1 4 3 2 

144. Isotherms are relatively more irregular in-----­

(A) southern hemisphere 

(~ northern hemisphere 

(C) polar region 

(D) equator 

c!FLDGruuu Ga;rr@a;m ~~a;mE>lS'lru 5l@rliiB>JD!Dfhrra; a;rrEmuu@!D LI®~ 

(A) Gfhm ~@QJLD 

(B) QJL ~@QJLD 

(C) ~@Q..lu ~gG~Li> 

(D) b:J,LD~~UJ Ggme; 
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145 F rnno Numz a Portu u h ir trad r vi ited Inch du1 m 

(A) Akbar purmd 

(( ) Dalhou ie p rtod 

(A) 

(C) 
§) lD 

L_§} 6ifHiUlD 

(B) Aurangz b penod 

~ h~utnra)a p nod 

JflW 

(B) 

(D) 

14G. The biggest Indian merchant trader of South India during J 7lh Century A.D. was 

~ Kasi Viranna (B) Ahmed Chellaby 

(C) Sunca Rama Chetty (D) Virja Vora 

.$1.i.51 17 c!ij,tb J:911Ji>!Drr~nq.ru Q>'5Gsr~Jb;;ilLJrr6'616il uSle.uGu61UJ j.[>~UJ QJ~s;ir 

(A) s;rr61 Q)17~~rr (B) ~s;lD~ Q5Q>rorrt51 

(C) e;ri.Je;17rrLD Q~n.:...iq. (D) ~rrmi aQJrrl)'rr 

147. When did the President of India give his assent to the National Food Security Bill? 

(A) 29th August, 2013 (B) 10th September, 2013 

~ 12th September, 2013 (D) 13th September, 2013 

a~61lLJ L~~u urr~s;rrul..j LOaa:rrlbrrGlS'lJi>@; @;llt-UJl)'8i~ 1bOOQ)QJrT Gruaurr~ ~Ul..jlbQ>Qf)~lbrrir? 

(A) 29ru~ ~e;oo@, 2013 (B) lOru~ GlfuLLbuir 2013 

(C) 12QJ~ Ga:uLLbuir 2013 (D) 13ru~ Ga:uLLbuir 2013 

• 

148. The Sangam literature gives us useful information about the history of South India during 
the reign of 

(A) Cholas 

(B) Pandyas 

(C) Cheras 

'1 All the above 

a:ri.Js;e;rrQ) jQ>6;.$11LJri.Js;~ro Qlbm~)i;~UJITOOQJU uwlJ51 uSla; UlLJm LmQT ~a;QJQ)a;~61T UJIT(!!)OOLUJ 

~L.6le;rrQ)~~ru GuJD QPllt-Ji>>'D~? 

(A) alfrr~irs;m 

(B) U IT Gilrr11t-lLJ ir c$Qr 

(C) <::6rrirc!!iro 

(D) alOaQ) Lmar@OOQJc$ID GTGi>Q)ITLD 
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149 .. e1dentify the wrong statement 

(A) Vijayalaya Chola established his capital at Tanjore 

(B) Rajendra I shifted the capital to Gangai KondaChola puram 

~· . Kulottunga Chola shifted the capital to Kalyani 

(D) · Rajaraja III shifted the capital to Darasuram 

~Q.ljDITGm QJrr8;.$llLJ~6r>fli8; s;~@t5l~ 

(A) 61Sl~lLJrrrulLI Ga:rrw6UT fli~tirr§PITlQ> ~6r>GUJDs;6r>IJ f2....@Gl.Jrr8;.$1Gmrr6irr 

(B) QP~rum..b @11rrGa:lf>~11 Ga:rrw6UT a;ffil61Ps; Qs;rr~L Ga:rrwy11~~li>® fli6IP(;\)Jbs;6r>IJ um!D!])l~rr~ 

(C) QP~rumb @)Grurr~~ffils;Girr s;rolLJrr~8;®~ ~roruJD6">61PIJ L.OrrJi>!DlmrrGirr 

(D) (YlQrjDITtD IJIT~IJIT.i:FGirr ~ITIJITBTIJ~~!i>® fli6r>6UJDffi6r>IJ L.Orrct>!J5l~rr6irr 

150. Match the following lists of Mahajanapadas and their capitals : 

List I List II 

Mahajanapadas Capitals 

(a) Gandhara 1. Taxila 

(b) Kamboja 2. Rajpur 

(c) Asmaka 3. Patna 

(d) Saurasena 4. Mathura 

~ ia) 
(b) (c) (d) 

2 3 4 
(B) 2 1 3 4 
(C) 1 2 4 3 
(D) 2 3 1 4 

uL.~lU~Q> ~mGTT6r>~ Gurr@~~s; 

Gl.Jrfl61P6 I Gl.Jrflma: II 

LDs;rr~muflitb fli6IPQ)Jb6">1JtD 

(a) .srrlf>p; ITIJtD 1. fiiL.a:k>tb 

(b) .srrtbGurr~tb 2. IJrT~!JrT 

(c) ~WLD.stb 3. urrL.mrr 

(d) 661J 1JGa:mtb 4. LD~l}"rr 

(a) (b) (c) (d) 
(A) 1 2 3 4 

(B) 2 1 3 4 
(C) 1 2 4 3 
(D) 2 3 1 4 
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151. Whot 1 th m m imphcauon f th 91 Con t1tutl n l Am ndm nt A t 00 )? • 

(A) lt has ehrnmated defectton m Indian Polth~ Alto· ·th 1 

e"'7 Thv-ronBitutron hasrecogm C'd th t'X1 t n\t 1 pohue 1 p rt1 

( ') It ha ehmmnt d pohhcal p 1rlt s from pm t ipntm at th panchnyat el tion 

(D) It has chmmnted spht m pohticnl parties 

2003 c:!l!>lD (Wl't QT 9 J <!2b0Jfi! .!>tl}8lUJWG>lDU4 /)~/) ~@. UJLOITQT Gflm"1T~ UJIT ? 

(A) {§Jfr>/)UJ 9!1]8lu.1rolrol(!9~~ ~LQ)\GLDrr~SblOIT& 6iL8l~ITQJEil>Ql ~~ 66Jl..L~ 

(B) ..&11J8lUJQ)QllOUL!. &ifJ~UJru e;L._fils;mw <:!>!riii&srl16;6)ooJD§l 

(C) ue6rrUJ~ (]fl,ir~rue;aflru &1ir51turu s;l..61.sm aurrL..iiruSl@rump; @L..@ Gwrr~~U>n.s ~11£ 661L..1--~ 

(D) .!>tfJ6lUJQ> s;L..§ls;QfiQ) tS)QTQj (;JtDU@61..lmp; €jjL@ GwrrP>~lDrr& .ffi8>6J G61L.L~ 

152. Which of the following state~ent (s) arc true? 

I. State occupies an important place among all social institutions 

II. Without state there would be chaos and confusion 

III. State maintains peace and order 

IV. Man cannot live without state. 

(A) I alone is true 

(B) I, II and IV are true 

(C) I and IV are true 

~ I, II, HI and IV are true 

£~s;~L Gr!fi~ sn!Droi( s;GiT) e:filUJrr~mQJ? 

I . &1mG1TP,~ e=e;pe; ib1!DIQJ~rfue;~ffi~6f>d:UJ <:!>llJ"Bf ~® @Bi£UJ~~6l.lt.b QJrrli.J!fi~ @L~mp;u 

t5liir?J~rom~ 

II. ~IJ'6r @ruQ>rr6l5lL..Lrrro ~Q:Priila;!DJD.@Q)Q)lJ..lt.b. ®19LiuQf>t.b .@Q)Qlt.b 

III. ~IJ6r, &1oot.0~ LD!DWJ L.O ~Qgri>looa;u u11rrwfilB>.$1.ro~ 

IV. ~IJ'6r @Q>Q)rrwru t.06aflPJmrrru QJrrw .@UJQ>rT§J 

(A) l lDL.@t.b e:nl 

(B) I, II LDtDWJt.b IV Lb e:fil 

(C) I w!iJroitb IV Lb e:ITl 

(D) I, 11, III w!Droilb IV Lb lfrft 
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153 .. e onsider the following statements. 

The President of India is elected by members of electoral college consisting of 

I. the elected members of both the Houses of Parliament 

II. the elected members of the legislative 

IIL the elected members of the legislative assemblies of the union territories of Delhi and 

Pondicherry. 

Select the correct answer using the codes given below : 

(A) I only 

(B) II and III 

(C) II and I 

~ I, II and III 

III. tq.rurol LOfD!J)JLD urr6lR!rtq.8:Ga:ITl l!J,~UJ~ t.SlrrG~a: 6LL6Q'>Uu5lro 112.._ITTGTT a~rrfeG~(b).$8iUULL 

1L!J)JUt.Sl6lllrrB>ffi 

(A) I LOL...@tb 

(B) II LOfD!J)JLD III 

(C) II LDfDID! Lb I 

(D) I, II LOfD!PJLD III 
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J ) 

(( ) 
(D) 

1980 LO 9 0 QT J) 

nt\'i hr th 

con tituted filld 19 
d 1 

l nd 

(A) 1980 to 6!SM(!)\ lh@Q!> ~mfJJ e?J!Dl GrlUJ 

eLDrrui.Slp;M 

(B) 1980 ~lD <:m@ LDGiafLru @j(gl ff, ~ !6) me; UJ 6LDITl:IL5lfbfbt51 1990 ~liar@ c51t9J 
SI>Q) @a>j!)UU@~~uuL.L~ 

(C) 1980 th <:m@ LD~Lru ®@ c!>!Q'lLDMUU~ 1990 ~Giar@ ~8:.@j@e;mru.$.$uuL.L~ 

(D) 1980 th <:!2!><:m@ c!>f61Ho6CFir ®Q9 Qs;rrmms; c!>!m61Slru ®@ ~mLD8;s; ~uy.$ Ge;rrGiarLt91. 1990 
c!(!iQior@ fhITGn @j(!!> c!>!Q'llDMUUL.L~ 

155. Article 320 of the Constitution of India deals with the Union Public Service Commission's 

(A) Chairman (B) Size 

(C) Tennurc ~ Functions 

@f1~UJ .!>lfJ'filUJru s:rrCfmth~6Ur eL.Lui.SlnlQJ 320 lD~~UJ C:fbirrurrmQSOTUJth~m ~~WJL6isr GfhrrLfry61lLUJ~? 

(A) fh6l>rururr (B) U~UJrrmrr ~~Q!Gfl8;ooe; 

156. With reference to State Governor, consider the following statements 

l. The Governor is appointed by the President 

2. The Governor is a nominee of the party in power at the Centre 

3. He holds office during the pleasure of the President 

4. Ile acts as an agent of the Union government to control the policy and measures of 
the State Government 

Which of the above mentioned statements are true? 

(A) 1 and 3 only (B) 2 and 4 only (C) l, 2 and 3 only (fl}'l l, 2, 3 and 4 

i.Slarru@i.O tnrrJblQ) ·:!'tM.5J!imfJ' ®With~ ru@i.0 s:rflUJrrm &\.!f>g)ls;fil UJIT61>QJ? 

1. ~~Jbrr ~mrr~u~t6lmrrru Jf>lllltnmi.0 GCFti.JUJuu@£lrorrrr. 

2. c!>fQJrT LD~~UJ ~IJ'61TID ,[blUJL.6l8ie;uuL..LQJIJ'ITQJITrT. 

3. 2:Qmrr~u~uSlar Ufh61Sl s;rrrui.O QJOOIJ' ~ru@i.O ufhb1SluSlru .@®uurrfr. 

4. LDrrJ@ru ~1161ar Gs;rrmQ>e;e;mm e;~s;rr~B;s; LD~~UJ ~fJ's:rrru )blUJLOmtb Qqti.JUJuuL.L_rurr 

C:tnC:ru ®Wlui.SlL.(~rom rurr8;$11Uri..Js;Qf)Qi ~~ s:rflUJrraT61lQJ? 

(A) 1 LDjb!PJLb 3 Cfrfl (B) 2 LDJD!J)ltb 4 Cfrrl (C) 1, 2 LDJDWJtD 3 s:rfl (D) 1. 2, 3 LDWg)ltD 4 Cfrfl 
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157. · 9\7hich of the following committee recommended that the Panchayat Raj should be 
constitutionally recognized, protected and preserved by the inclusion of new chapter in the 
constitution? 

158. 

(A) G.V.K Rao Committee ~ L.M. Singhvi Committee 

(C) Ashok Metha Committee (D) Administrative Reform Commission 

t.516Um.J@6l.Jm6UJDIDJITT 6TfefD @i@ ul§<!HTUJ~§J IJ'!Tm .ffilwrumffi.Ja;Q'lm ~1}'6JUJ6i> ~6'6lLDUt.5lQ) Vl® Ljf)UJ 
~~f)UJITUJ~6'6lpi Ga:r'ruu~ro (y)QJW ~6l.JrD6l)!D ~ffi.J£e;rrl~~. UIT~IJj!T~§J. u~u@~fb a6l.J~@w 6TQrIDJ 
urtlfe§JQ'>IJ' Qa:l!Jp;~? 

(A) G.V.K. 1Jrr6iJ @i@ (B) L.M. 6lr&i661 ®@ 

(C) ~C:a:rr.$ Gtn~fbrr ®@ (D) .ffilrr6Urra; 6r'rfJ®~fD ~Q')~ww 

Which one of the following is not an objective of RTI Act? 

(A) Transparency in Administration ~ Committed Bureaucracy 

(C) Accountability (D) Openness in Administration 

t5lroru®rum-6UriJIDJGiT 6Tfefb ~rogii p;a;ruQ) ~rrlQ'ltn6 a:L...L~~ro ®JfilB;ae;rrm@rogiQ) 

(A) .ffilr'rrurra;~~ro ~ml6l.J LDQ'l!!)Gl.j @ro6\lrrQ'lLD (B) Qurr.'J)luurrm ~~s;rrl}'6l.JrTMW 

(C) uf)ro Ga:rrro@Jtil GurrIDJUL! (D) Q6l..JGrfluumLUJrrm .@r'rrurre;w 

159. Consider the following statements : 

Assertion (A) The Preamble of Indian Constitution defines the objectives of the 
Republic. 

Reason (R) It embodies the spirit of the Constitution, the determination of the Indian 
people to build up a new and independent nation which will ensure the 
triumph of justice, liberty, equality and fraternity 

No~ select your answers according to the coding scheme given below. 

~I Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A) 

(C) (A) is true but (R) is false 

(D) (A) is false but (R) is true 

(A) : @.[i;~UJ ~IJ'filUJQ)Q'ltnut.5lro QPffi6l.JQ')IJ' @.[i;fJUJ @ili}-UJIJ'filro C:p;rrB;s;r&Je;Q'lm 
6l.J Q') IJ'UJ IDJ .$.$1 ro!D §I . 

a;rrl}'~w (R) : @~ @.[i;~UJ ~l}'filUJQJQ'lLDUtSlQ! rurr.$a;LD!T(§W. ~(!!) 8if!J)i>fJIJ'LDITQT ,!!)ITLQ'>L 
2-(!5QJIT.$@i6l.lfbriJ®i.D C:tn@)jw. ff>!). a;p;.[i;~IJ'LD, a:LD~§JQJLD tnriJwiw a:aa;rrfhl}'~~6l.Jw .ffil66>Q) 
,!!)ITLL 2-pi6l.j~!D§J· 

£G!;P ®Jfilut.5lL...@mm ®JDltDL...11}-6'> a:filUJITQT 661Q')LQ')UJ~ C:fbO-Ji>GffJ®· 

(A) (A) tnriJww (R) @IJ'~@w 8'fil, C:tn@Jtil (R) 6TQru~ (A) 66lriJ@i 8'filUJrrQT 66lm.$a;w 

(B) 

(C) 
(D) 

(A) tnriJgiiw (R) @IJ'~@w a:rtl, C:tn~W (R) 6TQTU~ (A) Q)}riJ@i 8'IT1UJITQT Q)lm.$e;LOQ)Q) 

(A) a:rtl, ~mrrru (R) ffJ6l.lWJ 

(A) fb6U!l)J. ~mrrro (R) a:rtl 
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1 0 I\ 11 b \ . 

Reason t cnn 1mpo 
Both A and R ar tru and R l 

(B) Both A and H 1 tru but R i not th corr ct xpl.in. tJ n of A 

(C) A IS true but n l fal e 
(D) A is false but R 1s true 
LSlmru®t.0 rurrlE.ilUJ~a>Jb ®~p;JQ) Qa; <m@ 6ifl rrm GSloo UJ £C:w J61uL'il @mm C§!D'uS@~aflrol®Jh@ 
~rrJhG$l>@ 

ih(!5~ (A) : <:!91~UUQ'lt_ e..rflQ>tDe;m QPQgGGlLDUJrrm~ruQ> ~~mru ~(§/) '1..a>L.UJOO 

6.irT!J~nb (R) : ~tq.UU6'6>L ~filGG>Lo.sm tD~ ~IJ6i ruml}'UJQ>!DlEalffi p;l~M @Lcf.l!.jl.b. 

(A) 'A' LDtD!l)l.O 'R' ~~UJ @IJ~@Lb 6fil lDJD{l)ll.b 'R' <»mUfg! 'A' uS)QT 6iflUJITQT G61mMLDIT(l_!)Lb 

(B) 'A' LDtDg)!Li> 'H' ~~UJ @1J~@t.0 6fil ~fi111rrru ' If ~mu~ 'A' -uSlm 6rflUJrrm ~ro8ie;LOruQ) 

(C) 'A' ~Qiu~ erfl ~mrrro 'R' ~Q?u~ ~ruw 

(D) 'A' ~Qiu~ SbQJ!J)l ~QTITW 'R' "TOOU~ errl 

161. Which of the following statement(s) about Deputy Speaker is True? 
I. He is not sub-ord.mate to the Speaker. 
IL He is sub-ordinate to the Speaker 
III. Ile is not directly responsible to the House. 
IV. The same process of removal applicable to both Speaker and Deputy Speaker. 
(A) I and II (B) II and lII (C) III and IV (~ I and IV 

LSlmQJ(!5QJ6UlQ.IJDl!)IGr, @Q">~-eurrJI>rTUJa;ri' ®W'p;fh '1..~Q'llDUJITQT BnWl!)l6.iGr UJITQ">Gl.l? 

l. 6U!TJf>ITUJ6.i(!!j6'i@) ~rurr £w~aiQ) ~~QJQ)rT@WQ>Q) 

II. 6urrJ!irrUJa;®8i® ~rurr Aiw~mQ) ~~QJQ)rr 

III. ~Q)QJ.$@) ~QJrT apirflQ')LUJIT8i GurrWJUL.jQ'lLUJG\.lrT @IDQ)Q) 

IV. e:urrJI>rrUJa;rr LO!D.Q)Jt.O ~Ql~ e:urrJI>rTUJBiQ')IJ' up>GDl .£.$e;Lb Q5tiJGl.lp>JD® ~afJ' LOrr~rTlUJrrm )!>Q'lL.(!PQ')!D 
LSlQiud>11>uu@$l!D~· 

(A) I LDrDg)Jl.b II (B) II LO!D.Q)Jl.b III (C) III LDJDg)Jl.b IV (D) I tnfb~Lb IV 

162. The maximum strength of the State Legislative Council has to be 
(A) l /4th of the Legislative Assembly 
(Vf'I l/3rd of the Legislative Assembly 
(C) 1/2 of the Legislative Assembly 
(D) 1/5 of the Legislative Assembly 

tnrr)BlQ) 6LL6Q'lu CLOruQ'JQ.JuSlm ~p;1s;utq..U.Jrrm SLg)Jut.Slmrra;mlm ~6liGT~8;Q"Ja; 

(A) 6LL6QJU 11...wiut.Slmrra;ro1Qi .[li!TQJ8i}Q) ~® Uliu@) 

(B) 6LL6Q'lu ~wutSlmrrih6ITlru ey:ioo!J5lru ~® urru® 
(C) 6LL6QJU ll...g)JULSlmfra;6tf)Qi.@IJ'~Tlq .. ro ~® Uliu(§ 

(D) 6LL6Q'>U ll...p)JULSlmrra;"1f!Qi mffi~ro ~® uliu® 
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163 .• The Nehru-Mahalanobis model 
producing consumer goods. 

gave active encouragement to ----- industries 

164. 

(A) heavy 
~ small Scale and Cottage 

(B) light 
(D) none of the above 

GJD®-LD~ruG.ffirrl.S1Giu LDrr~ifl uSl®fr>~ fill!8;a;~m~ @.Sfr6l.j Qurr®Qi-a;mm ~JiJu~~ Qa=u:..ill..jt.O ----­
Q~rrWJJiJa:rrmrua;~.9;® Qa;rr@~~§J 

(A) Si6bl1J$ (B) @Grua:rr6l!T 

(C) fil W tn JiJ W t.D ®ID! Ji; Q ~ rrWJ Qi e;Qi- (D) GU)Ji>Q.g:rr~m Q"§J6l.jLD ~Qiru 

Match: 
(a) National Planning 1. 2004 
(b) New Industrial Policy 2. 1992 
(c) 7 4th Amendment 3. 1991 
(d) 14th Loksabha Elections 4. 1938 

(a) (b) .(c) (d) 
(A) 4 2 3 1 
(B) 3 1 4 2 
(C) 2 3 1 4 

¥4 3 2 1 

Qurr®~§la; : 
(a) G~filUJ ~LLuSlu;b 1. 2004 
(b) Lj~UJ e;t.0Qu61IT18; Qe;rrQi-me; 2. 1992 

. (c) 7 4-ru§J 8'LL ~®~~t.0 3. 1991 
(d) 14-"1.J§J Grurr.9; .g:urr G~ir~Qi 4. 1938 

(a) (b) (c) (d) 
(A) 4 2 3 1 
(B) 3 1 4 2 
(C) 2 3 1 4 
CD) 4 3 2 1 

165. Who among the following is not related to civil service committees? 
(A) Macaulay 

(B) Satish Chandra 

(C) D.S. Kothari 

....f}i1( Narhari Rao 

£wJ;e;QRrrL"1.JJDgJJm UJrrir ®liJ-mU) u61Sbfl G6mQJe;~J;e;rr6bT ®@J;e;61fl~ Q~rrLirLJ @rururr~rufr? 
(A) U)rTffi®Gru 

(B) 8'~~Gi!p 6fr>~ IJIT 
I 

(C) D.S. Qe;rr~~rrrfl 

(D) JDITir~rfl IJITQJ 
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166 \\h mtrodu d l'l RA 

..//{ Dr P J bdu] Kai m 
( D 

Pl RA ( 

(A) 

(C) rr 

l 1b m Am nit1 

(B) 

I> 

CD) 

• 

167. Consider the followmg statement. hoo the correct nnswer from the codes given below. 

Assertion (A) : When a nation' · rnon y upply persistently mcreascs at a foster rate than 
the nai1011 can mcrea i~ output, inflation occurs 

H<'ason (H): Faster growth of money supply than output cun raise living standards. 

(A) Both (A) and (R) are individually true and R is the correct explanation of (A) 

~~~ Both (A) and (R) are individually true and R is not the correct explanation of (A) 

'\Jll") (A) is true but (R) is false 
(D) (A) is false but (R) is true 

i.SlQ!QJ®LD QJrriJ.l1Uj,(;¥)p; &~Q, Q5rr"°r@. srflUJrrllBl 61Sloo1..00UJ £<:w ~!Dlwi.SlL..@mloll ~!6JuS@.sQf!Q$l®~ 

~nsi>Gp;@ . 

6Urolll.l!J)J~1Dru (A) : V>® JI>rrt.'...iq.ru SLmm u~ ~mluurrQT~ Q1DrrLfr68lU.Jrrs; LDJDg)lili C6Us;LDrrQT 6'51D~i)ru 

fLU.J(!!)ili Curr§! V>® Jr>rr@ ~)'!i6ilr SLJDLI~~Q)U.J .:&1f)e;uu@~~Lb. u~GUMili <;J!i>u@i.b. 

B;ITl}'QlSTi.b (R) . UQlST .,!>tmlut5lm {:QJs;LOrrQT QJ6TTrT661 ~f)s;rflul.j 6'5~LOITQT~. SL!i>u~f) ~f)s;rflul.j 

e!JlQ)LDrrs; 6\Jrr~B;ms; ~fJP-,m~ SLUJir)i~i.b 

(A) (A) LDJDg)lili (R) ~~uuL..L ~ro6£lru c!frfl ~Q'Trrru (R) - (A) m c!ftflUJrrm 6£lm.9;s;i.O ~®ili 

(B) (A) LD!i>g»ili (R) ~~~ ~uuL..L ~m6£lru c!frfl <'{l>QTITW (R) QT~ (A) m c!ftflUJrrQT 6l5lro.$.$ili ~ruru 

(C) (A) 6tfl ~QJTrrru (R) ~m~ ~QJWJ 

(D) (A) 1DQJg)I ~~rrrru (R)- ~QT~ 5tfl 

168. Money appears to have a ma1or influence on 
(A) Inflation 
(B) Inflation and business cycle 
(C) Investment 
~ Inflation, business cycle and investment 

uQlSTlDrrm~ Qu®iliurrmmLDU.JrrQT ffJrTM)ig,lf>@~m 1..5~ Qs;rrQo-r@rom~ . 

(A) u~ffi.$.$1.b 

(B) u~ffi.$.$lb lDlDg)ILD QJrr~u6 s;w!i>61 
(C) QPlf>ro@ 

(D) uQSl!TQ)d;a;i.b, Qlrr~u6 BiW!i>6l LD!i>giiili QP~ro@ 
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169 .. 4fonsider the following statement. Choose the correct answer from the codes given below. 
Assertion (A) : During periods of inflation, people still hold money even when other assets 

are superior sto1·es of value. 

Reason (R) : Money is a medium of exchange, liquid and divisible 

(A) Both (A) and (R) are true but (R) is not an explanation for (A) 

~ Both (A) and (R) are true and (R) is an explanation for (A) 

(C) (A) is true and (R) is false 

(D) (A) is false and (R) is true 

LS"l~QJ®LD QJrr.$£UJ~Q)~ e;®~~ru Qe;rrEW"@, lfiflUJrrm- 6\S1Q)LQ)UJ £G~ ®n51Lit5lL..@GiTGTT ®n51uS@e;ffilrol@Jt@ 

Gpir,ffiG~@. 

QJQSILI...J!Pl~fbru (A) : u~Gl5'8x$L.b ~Girm e;rrrur6.Je;ffilru LDfD!D Glfrrp;~B;e;Gil ~~e;wrrm- urr~diITLILI w~uLI 

Qe;rrEW"@@®.ffi~rr~L.b LDMGiT u~~Ql~GUJ @~WJL.b LS"l~~~ GdirrEW"@ 2...Girmrrrre;Gir . 

.$ITl}"GIMLD (R) : U~LDIT6i!T§I ~® urflQJrT~~Q)QT lfrr~~L.b. pjrrQlLDPi ~~Q)lD LDfDgllLD t.51rrl8;e;8;8il.~UJ§j. 

(A) (A) LDfDWJL.b (R) lfifl 4m-rrru (R) 461!T~ (A)-~ 6\S1m8;e;L.b £QlLUJIT§J 

(B) (A) LDfDWJL.b (R) lfifl 461!Trrru (R) (A)-~ GlSlmB;e;L.b 4@>L.b 

(C) (A) lfifl 4m-rrro (R) ~QJW ,, 
(D) (A) ~Qlgll 461!Trrru (R) lfifl 

170. Consider the following statements 

(A): Purchase of goods that will be used in the future to produce more goods and services 

(B): Purchases of domestically produced goods by foreigners minus the domestic 
purchases of foreign goods. 

What A and B denote? 
(A) Consumption and investment 
(B) Consumption and net exports 

(C) Government purchases and investment 
~ Investment and net exports 

t5l ~QJ ®Lb Bii.fD i6l Q) QT 4 l}"rTuJ di 

(~) GT~r're;rrruPi~ru ~~e;wrr61!T Gurr@GirdiGiT wct>wii..O Gs:Q">QJe;Qlro ~wu~~ GlfW6l.lfbJi>e;rre; 6lJrrr6Je;uu@L.b 
Gurr@Gira;Gir 

( 4) QQJGITl.ffirTLLQJrTB;GTTITQl 2-Glr.ffilTL~ru ~wu~~ QlfuJUJUU@L.b Qurr@mB;QlGTT 6t.lrTr6.J®~ru -

:L6ITJ!irrL..~ru 6lJrrr6.Je;uu@L.b QQJffil,!DrrL..@ Gurr@L..e;m. 

(~) LDWWJLD (4) GTQ)~ ®!!51~!!)~? 

CA) @.$IT~ wiDwi..0 <!P~"°® 

(B) @.$rT~ LDrDWJLD .ffile;fl ~JDglllD~ 

(C) ~fl~ Qe;rrGiT@fbru w!Dwi..D c;>~ro@ 
(D) @~ro@ LDrD!J)ILD .@e;'l ~JDWJLD~ 

63 ACFGS 
[Turn over 

www.upscstudymaterials.com



171 M th th :\ t \\ l h l lll\\l1hth\\\ r P d with ti h Ip f IV n be 
I I t I L1 t II 

( ) R h ou D1 alnht:I 1 1876 

A t 
b) PunJab '1 nnnCJ '\ t !. 1 l 

(c) Th Ro) al Titl At 3 1856 
(d) The Age of Con cnt Act 1868 

(a) (h) (c) (d) 

~ 
4 2 3 ) 

3 4 1 2 
(C) 2 1 3 4 

(D) 1 3 4 2 

..(QW Qllirr@tW;uul...@roQT uL.iq..u.iQ>ru Q>Q.J~~ '1"sb~ 6LLLD 6rfb~ Q.J(!!)L.LD ~!DlQPa;Liu@P>~uuL.L~ 
Q"OOUQlpiU Gurr@~~s; 

uL.iq..u.iQ> 1 ul...iq..u.iru II 
(a) 6LDUJ8; @iQ>JDUrr@ 6LLLD 1. 1876 
(b) u~S"rru ®~"'&if 6l..Ltb 2. 1891 
(c) c:!}tJJs: uL.Lri.Je;ro 6L.Ltb 3. 1856 
(d) Q.JUJ~ ~Ul.jlf>ru s:GLtb 4. 1868 

(a) (b) (c) (d) 
(A) 4 2 3 1 
(B) 3 4 1 2 
(C) 2 1 3 4 
(D) 1 3 4 2 

172. Consider the following statements : 
Assertion (A) : Dayananda Saraswa thi began the Suddhi movement, i .e. conversion of 

non -Hindus to Hinduism. 

Reason (R) He wanted to shape the society on the model of the Vedas 

~ Both (A) a nd (R) are mdiVIdually true a nd (R) is the correct explan a tion of (A) 
(B) Both (A) a nd (R) are individually t rue but (R) is not a correct explanation of (A) 
(C) (A) is t rue but (R) is false 
(D) (A) is false but (R) 1s t rue 

£w8iBirT@)ltD rurr~UJrhJc$Q)QT a;ru6il : 

&i..!i>WI (A) : ~UJrrQl',[b~ S"IJWQ.J~ 61~~ .@u.i8is;~'8l~ G~rrui.J~QTrrrr. i.e. .@,[b~ ~Gi>rurr~rurrs;Ql~ 
.@,[b~S;s;mrr s; LD rrJi> {1)1 ru ~ 

BirTIJ61RSrtD (R) : (!Q.J~ri.Ja;Qf'IQ'J 6n.!i>g»uuiq.. 6QP~rru.i~rori~ ~Q.Jrr LOrrd>JD Jbl'8lm~rrrr 

(A) (A) LOJD{l)ltD (R) .@ll~@C!LO a:ITl, C!LD~tb (R) '1"6Uiu~ (A) 6l5l!i>@i a:ITlu.irrQl' 6lSJ'1T.9is;tb 
(B) (A) LDJDg)ltb (R) ~'1~@C!LO a:ifl . C::LOi9Jtb (R) g6Ufu~ (A) 6l5l!i>® a:iflUJrrQT 6l51'1T.$s;LOruru 
(C) (A) c!Jifl ~Ql'rrru (R) ~'lU©J 
(D) (A) )'li'lU{l)I 4mrrru (R) a:nl 
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173. e onsider the following pairs : 
I. Thank giving day- 22 March 1940 
II. Two Nation theory - 22 December 1939 
III. Bombay Naval Mutiny- 8 August 1942 
IV. Quit India movement - 8 August 1941 

(A) III and IV ~ I and II (C) II and III (D) IV only 

t51Qi61.J®t.0 @Q)EWra;Q)w a;®~~ru Qa;rrma; : 

I. JDQii.61 Qa:rrru@}Jti:> JDrrm - 22LDrrir&o1940 

II. @® .rr>rr@a;Gil Qa;rrmQ>s; - 22 1.q-a:ti:>ur'r 1939 

III. uL.OumiJ a;L!i>UQ'lL a;Q>a;ti:> - 8 ~a;GiuL.1942 

IV. G6Um6'lwlLI~6irr G6UG!fl~lU!))J @lUB;a;t.O - 8 ~a;GiuL.1941 

(A) III L.O!i>IPJLi:l IV (B) I LD!i>!))Jti:> II (C) II LD!i>WJt.O III (D) IV LDL@ti:> 

174. Match List I with List II and select the correct answer: 
List I List II 

(a) Vernacular Press 1. Lord Chemsford 
Act of 1878 

(b) Indian Universities 2. Lord Curzon 
Act of 1904 

(c) Indian Councils 3. Lord Lytton 
Act of 1909 

(d) Rowlatt Act of 1919 4. Lord Minto II 

(a) (b) (c) (d) 
(A) 1 4 3 2 
(B) 2 3 1 4 
(C) 3 2 1 4 

~ 3 2 4 1 

61.JiflQ>a: I ~LQi 6l..liflQ'la: II-Q>QTLJ 61.Jiflma: Gurr@~~ a:ifllUrrQT 6\SlQ)Ll6lmQT~ Q~ifl~ Ga:wa;. 

6l.lnlQ)a: I 6l.liflma: II 

(a) t5111rr~~UJ GL.Drr~ 1. Ga:LbQ\.J~urrir@ t51114 
u~~if)8;Q'ls;6 a=L.Lt.0 1878 

(b) @~fhlUJ urus;Q)Q)8;a;~a;6 2. a;ir a=Qr t.Sl 114 
B'LLtO 1904 

(c) @~~UJ a;~Qi61rua;m 3. @JLLQr tSll)"Lj 
B'LLtO 1909 

(d) Ql)"WQ)L 6LLLD 1919 4. uSl~Lrr tSll)"Lj - 2 

(a) (b) (c) (d) 
(A) 1 4 3 2 
(B) 2 3 1 4 
(C) 3 2 1 4 
(D) 3 2 4 1 
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175 \\ 111 h popular frc dom fighter who di cl after 58 d y of fa tin from 19 h 0 tober 1 , for 
th cr,cation ofsc,n rnte Stat for Telugu spenkm p pl Andhr Prad h 

A Ma Po Snngnanam ~ Patti Sr1ramulu 

(C) C.RaJ 1 1 rhan (D) Peri} r EV R 

Gf!i~rbi© Q.orr~ Gu6im LD • s;~a;e;rrs; ffi~IJ wrr Q)tb fb (!!foUrTn;s; 19 10 195" w (MT@, 
58 J!>rrL.e;ffi fL~(;WTrr6lS11]~lil@®f!>t9! tLuSlrT~fb 6ifbf:b~IJ C:urrl]rTLL GUIJIT --- ----

(A) wrr Gurr 81ru~rrmm (B) GurrL~ ~IJrT@fl)J 

(C) 81 l]rr6Cs;rrurrrurr6c;:rr0l (D) Gunhurrrr r:r: Gru vrr 

176. Find the Missing Number? 

3~ 5~ ? ~ 
4 12 15 

(A) 2 (B) 6 

"'1 8 (D) 64 

GlS1@u L.L bf Qiar~HiiJ~r .$ s; rrQiar Bi. 

3~ 5~ ?~ 
4 12 15 

(A) 2 (B) 6 

(C) 8 (D) 64 

177. Continue the series, 

ADB I EHF, ILJ .. .. 

~ (A) APR MPN 

(C) BFO (D) KOL 

~Ji>~ G\.Jrflme:OOUJ~ G~rrLrT.!£ 

ADB I EHF, ILJ .... 

(A) APR (B) MPN 

(C) BFO (D) KOL 
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178 . .. man earns Rs.28,000/ as monthly salary. His expenditure and savings are given in the 
diagram. How much he spent every month other than food as expenditure 

13% Rent 

~ 11200 (B) 11300 (C) 15400 (D) 12500 

tfi(!96tlrrlm . l.OIT~ 6tl(!9l.OITQTtO ®· 28,000 ~6l.l(!!)Q>LlU Q6Q)6!5lm@tb ~L.6lUL.jtO UL~~Q) 

Qs;rr@S;a;uuL.@mm~. ~6tlir ~6i.JG6l.lrr(!!) LDIT~(!:Pt.O ~~6!5l!iJ@i ~6!5lg @!f>'l Qe:Q)6!5l~rrr.1s;~B;@i 61"6i.J6tlm~ 
Q6Q>6l51@.$1 !D rrir? 

15 % <!6t.6h.J LI 

(A) 11200 

(C) 15400 

13% 6UITL6™i 

(B) 11300 

(D) 12500 

179. If 56 men can do a piece of work in 42 days, number of men do the same work in 14 days is 

(A) 156 ~ 168 

(C) 119 (D) 148 

56 ~~s;m ~® aQJQ)Q)Q>tu 42 JDrrL.s;Glflru <!:Ptite;..£im!Dmir. ~a~ aQJQ)Q)Q)tu 14 .mrn.:..a;mlru QPtitLiufo!iJ® 
a~m6l.Juu@t.O ~~s;mlm mm~S;ms; 

(A) 156 (B) 168 

(C) 119 (D) 148 
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)80 Wh t l U1 n xt figur • 
0 l@I 6. l M D I 
l 2 3 4 5 

(A) @] (B) ~ 
(C) 0 ~w 
<91@~fb ULLD G;TOOQT? 

0 @ 6. IM I D 

1 2 3 4 5 

(A) @] (B) ~ 
(C) 0 (D) [2J 

181. At an election involving two candidates, 68 votes were invalid. The winning candidate 
secures 52% and wins by 98 votes. The total number of votes is 

(A) 2382 

(B) 2450 

Jl!f' 2518 

(D) 2550 

@17Eliar@ Gurr C:urn.:.."l-uSl@t.O ~rr afbirfbrolQ) 68 Q.Jrr8;@ia;m Ge:Q>Q>rrlbmru . Gru!i>i6J Gu!D!D aum.:..tq-UJrrmrr 52% 
"'fb65fbt.D QJrrBi®a;(;fr Gurt>w C:fbrrJi>wrum17 6l51L 98 QJrrBi®a;m ~~a;Lb Guwwmmrrrr c;r~Q) GlDrr~fblb 
ru rr Bi®B;Glr ~ ~lbbfJOO? 

(A) 2382 

(B) 2450 

(C) 2518 

(D) 2550 
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182. af. one of the roots of the equation x 2 
- ax+ b = 0 is square of the other. Then which one of 

~e following is correct. 

(A) a 3 = 3ab + b2 + b 

(B) a 3 
- b2 = 3ab + b 

(C) 3ab = b2 
- a 3 

- b 

~ b = 3ab-b2 -a3 

x
2 

- ax+ b = 0 ~~!D 6LD~urrl..tq.~ ~® CY>Q)LO LDJDG!l>rT® CY>Q)~~~ QJ[r.$s;t.0 ~Qf)Q> £w.$s;~L6l..ldJi6)Q> 
~~ a:ifl 

(A) a 3 = 3ab + b2 + b 

(B) a 3 
- b2 = 3ab + b 

(C) 3ab = b2 
- a 3 

- b 

(D) b = 3ab - b2 
- a 3 

183. How many digits are required for numbering the pages of a book having 300 pages 

(A) 299 

(B) 492 

(C) 789 

~ 792 

(A) 299 

(B) 492 

(C) 789 

(D) 792 
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184 Evaluate if 3375 

(A) 335 
(H) 40 

~ lo 

(D) JO 

U>~UG>UBJ ~rTQ!OT : V3375 

(A) 335 

(B ) 10 

(C) 15 

(D) 10 

185. For the following numbers which is odd man out 

(A) 6 
(B) EJ , EJ 
(D) a 
(A) 6 
(B) EJ 
(C) EJ 
(D) a 
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186. eA student multiplied a number by 3/5 instead of 5/3. What is the percentage error in the 

calculation? 

~64% 
(C) 44% 

(B) 54% 

(D) 34% 

~® LDrr~rum ~r'r GT~mmr 5/3 qi,6U Gu@.S@)6l.J~JD® u1hJ~ma; 3/5-qi,ro Gu@8;$160Trr6U ~GU@JQJLUJ 

LStmwt6lm e:~ro~in ior~~? 

(A) 64% 

(C) 44% 

(B) 54% 

(D) 34% 

187. If 40 % of 1640 + x = 35% of 980 + 150% of 850, find the value of x 

(A) 1052 

JP(' 962 

(B) 842 

(D) 372 

40 % of 1640 + x = 35% of 980 + 150% of 850, x -EiN LO~u~u e;rr~.s 

(A) 1052 

(C) 962 

(B) 842 

(D) 372 

188. A number is decreased by 10% and then increased by 10%. The number so obtained is 
10 less than the original number. What was the original number? 

(A) 2000 

VJlff" 1000 

(C) 500 

(D) 100 

~® GT~~rr6m'~ QP~QS16U 10% ~m6\.l @)Ql!l).Sa;uul....© LS\m 10% ~m6\.l ~~a;ITIS;s;uu@.$1!!>~- @Q.JQQJ~ 

QP)2)6U G.srr@li;a;uul....L GT~~m ~m661Qi 10 ®~!!>6\.1 ~@)W GTGaflQi ~~~ 6T~m~li; e;rr~. 

(A) 2000 

(B) 1000 

(C) 500 

(D) 100 
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l 9 Of th th n t l Jon t th r t Wh I th f> • (A) DHG till (OF 

(Cl BE ~1111 

t51 

(A) DHG (B) CGF 

(C) BFE (D) HKL 

190. 4 men and ()women fimsh a 1ob m 8 days, Y. hile 3 men and 7 women firush it m J 0 clays. In 
how many days will IQ women finish it? 

(A) 32 

(B) 24 

(C) 36 

.Qlf' 40 

4 ~~re;Gir, 6 Gu6Wre;Gir alnrp;,~ ~® aQJQ)Q.)Q)UJ 8 p;rrL.e;"1f\ru QJ>Lcf UUrT. <:!9lafb C::ruQ'>Q)Q')lLJ 3 c!&~e;Gir, 
7 Gu~s;Gir a6rTJb§I 10 p>rrL.e;"1f\Q) QJ>Lq-UUrT. 10 Gu~e;ro a6rr.ff>~ aQJQ)Q) Gau'..Jp;rrru <:!91QJaQJ6JHj\)Q)lLJ 

~P'>fbmro JDrrL.e;ffilru G6u'..J~ @tq-Liur'r? 

(A) 32 

(B) 24 

(C) 36 

(D) 40 

191. If a• b = .Ja2
..,. b2 

, then wh at is the value of (3 • 4). 

(A) 9 

(B) 16 

(C) 25 

..; 5 

a• b = .J a 2 + b2 <OT6aftru (3 • 4) m w~uLI ~m~? 
(A) 9 

(B) 16 

(C) 25 
(D) 5 
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19. Find the ne~t figure 

Io I o]]]llilllmJI 
. (A) m ~) m 

(C) m ~m 

Io I o]]]ililllmJI 
·. (A) m ~) m 

(C) m - (D) m ·, 
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1 Ho\\ m ny con utn term 
ndd d to g t a um 1092 

""" 6 (C) If 

3 + 9 t- 27 + . a !!> 

(A) 6 

(C) 4 

tarting fl m the fir t t rm of the 

m> s 
{l)) 7 

r1e 3 + 9 27 

Q'IQT u~ me; &l.Ltq.. rr en.@)2"1 1092 WI> LD 

0\) 5 

(D) 7 

191. Find the sum of the first 20 terms of the geometric series ~ + ~ + ~ + .... 
2 6 18 

v;t("' 1:[1-(!)=] 

cs) 
1
: [i-G)"] 

(C') 145 [ 1-( ff] 

(D) 1: [1-(ff] 
5 5 5 . Q · • /"'I LI • · 20 • ~ • r.'I . . - + - + - + .... '1"68T!D U(!!)c$@jfb 101fblTL111QT @{bQ> 1LtpJUL.jc$~lllQT &.19'fbQ'>Gl>c$ c$1T~c$. 
2 6 18 

(A) 
1
:[1-(ir] 

OJ) 1:[1-(1)"] 

(C) 
1: [1-(ff] 

(D) 
1
: [1-(t)"] 
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. 195. • Value of 

(A) 

(C) 

1 

1 

3 

1 1 1 -+- of -
3 3 3 =? 
1 1 1 . 
- of - + -
3 3 3 

1 1 1 
-+- of-

LD~UL! s;rr~ r 3 1 r = ? 
- of-+-

(A) 

(C) 

1 

1 

3 

3 3 3 

(B) 3 

..,. 9 

(B) 3 

(D) 9 

196. How many triangles are there in the following figure? 

(A) 10 

~ 20 

(A) 10 

(B) 14 

(D) 22 

(B) 14 

(C) 20 (D) 22 
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197 A cla t rt t 10 AM and In ts till J 27 p m Four penods arc h Id durmg tlu e terval. 
Aft r cv ry p nod, 5 mmut ar grv n fr to th tud nts 'f h xa t duiat1on of each 
period i 

(A) 42 mmut 

VJ1I' 8 mmut€' 

(C) 51 minutes 

(D) 53 mmutcs 

~® QJ@jULf 10 AM Bi® GlbrrLr&l£ 1.27 p .m . .i@j @~&lJD~· urrwi.i.$Cih JbrTQ-i® 61.0 .SnlUJ@B>mrre; 

l§L.~$fjuuL.@ f;)ruGrurr@ DnlUJ@e;Qf!Qi- @tq..66lru 5 i£luSlwiila;Gh LDrT~QJrrs;~.$® SlUJQ.j ~fJuu@&lJD~ 

GiT~ru ~@ DniUJtq..Qr B;ITQ) ~ffi"Q.j GiTQT~? 

(A) 42 sf>lu5l1..r&i6iw 

(B) 4 8 sf>1 uSl L.r&le;m 

(C) 5 1 .tf>luS1L.r&ie;w 

(D) 53 .tf>luSlui.Ja;ro 

198. In a hotel 60% had vegetarian lunch whole 30% had non-vegetarian lunch and 15% had both 
types of lunch. If 96 people were present, how ma ny did not have either type of lunch 

(A) 20 

.,.. 24 

(C) 26 

(D) 28 

\jlrT ILQRJT"Q.Je;;i~ru 6096 Q'J6QJ ILEiWTQ.ftb 30% ~Q>6QI ILQRJT"Qjtb LD!i>WJt.b 15% .@IJ~@ 6l5lp; ( Q'J6QJ LDW!l)Jtb 

.d9J61l6QJ) tLQRJT"Q.Jt.b s:rrut51L.Lrrrre;w . .d9lJBP> SL~Q.Js;~~ru 96 C:urr .@®)i>~mrr .@~ru GiT~p;"'m C:urr GiTJB~6l51~ 
ILQRJf Q')QJ l4 Lb 61TU tS1 L.6l51 IDQ'l'l> 

(A) 20 

(B) 24 

(C) 26 

(D) 28 
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199. fl & B undertake to do a piece of work for Rs.600. A alone can do it in 6 days while B alone 

can do it in 8 days. With the help of C, they finish it in 3 days. Find the share of 'C '. 

~ Rs.75 

(B) Rs.100 

(C) Rs.150 

(D) Rs.50 

A- ll..JLb, B-ll..Ji.b ~® C6l.JQ>Q)~UJ Qa:ti..J~ QPUj-.$a; ®urrti..J 600-.$@) ~uy.$ Qa;rr~Lrrrra;m. A LDL.@tb 

<:!91 6iJC6l.JQ)Q)~UJ 6 p;rrL.a;ffil@l.Ji.b. B wL...@i.b <:!916iJC6l.J~ru~UJ 8 p;rrL.a;ffil~Lb @ui-uurrrra;m. C ~muGtJ®L~ 
A. B Ca:rr,!5~ <:!916iJC6l..l~Q)~UJ 3 p;rrL.a;6fflQ.> C!Pui-f!i~rrru, 'C' Guwi.0 6l.J@wrr~Lb ~~61IT? 

(A) ®-75 

(B) e!!).100 

(C) e!!).150 

(D) e!!).50 

200. Three numbers are in the ratio 1 : 2 : 3 and their HCF is 12. The numbers are 

(A) 4, 8, 12 

(B) 5, 10, 15 

¢ 12, 24, 36 

(D) 10, 20, 30 

(A) 4, 8, 12 

(B) 5, 10, 15 

(C) 12, 24, 36 

(D) 10, 20, 30 
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• SPACE FOR ROUGH WORK 
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1. 

2. 

3. 
4. 

5. 
6. 

7. 

8. 

9. 

10. 

11. 

12. 
13. 

2014 
Gurr~ ~!!5l6tf 

(!PBi£UJ ~pSlQjCiJ>U5Rr 

AC s 

{@~ 66)Qrn;, Q~rr@>U4 ~ C:LD~Ql!DQllU ({ij)J1tb u~)S; Ga;rrGliar@mm~. ~ri'Qj Q~rrLri.J@>to CfbrJ~ru 
Gliloorr~Q"n®uQ>u~ illD6.(!5Li>uiq. a;ara;n~uurrmir 6'1.~Li> QJQl17uS)Q> CLOWJQlJDOOlU~ /)rr;6',M, Lrr~. 
QilQTrr;,Qp;rr@)uQ>u;, /)n>S;®Li>utq.UJrrm G6.U~ s;~l!irr uurrm~LuSl@~ Gu!i>!D64LGn C:U>WJmtouSlm QJQ>~4JD;,Qlp; 
e;QJQTLOrr8i £~;, /)~ <:w~@L.b ~p;an5lm <:B;mdil~ '6)Q>wuml~ Gp;rrwfus;Q)rrib 

{@~ QilQTrr;, Gp;rr@)U4 200 dilmrrS;s;marli; Qs;rrdar@mQr~ '6loot...UJmlM Qp;rrw61(!5(!PQr @ciJQilmrrp;Gp;rr®C.115lru 
G;TruQ)n QilmnY;"5Li> 615l@u1...rrLoru QJiflmslUrr& {@1...1.b GuJi>!J)l"1T"mmQJrr 'HitTUQl~l4lb. @mLUSlru 'J"~@ltb 
G6Uii>ltJ;,fbn"1T8iliir R...RTQTarQJrr G;TQ1umfbl4LD "iflunrr;,~& Qs;nQ1maii.i:>. ~ftl!Li> @)(i;f)!Durr@ .@(!!)ul.Slm, c:!Ptp;Qloo u~~ 
JbluSlLri.J8i~@iliir ~QllJ) s;liirs;rrQ!UfluurrmiflLl.i:> Q~nl6lilMQJLi> 
'1'ruQ>rr 66)Q?rr.$s;~~tb "61Ei>LUJQflMaiLi>. '1'WQ)rr 661QTrrw~Li:> sLDLDrrm U>/)uGuooa;m Qa;rrQirui>ru 

12-ri.Js;~Q')LUJ u/)ai '1''1iJT(j;f)Qlr ~JbfbU u&~/)m QJQ)~ Cl.Dru (!PalQ>u51Qi c:!Pti$li>Qs;QT .!}tQ>lOJi>~mQT @Lj,/)ru .£ri.ia;m 
G;T@p; <:6U6ibr@tb. (:QI~ '1'Ql)!)l41.b 6'61mrr~ Gfbrr®ul.Slru G;r@fb.;; &l.Lrr~ . 

QilQ>L&Q'l'1T.S ~nSl~&s;rrL...L G;TQT 6'61QlL~)!)rrliir @mgJ 12-ri.Js;~ 8ilililrs;rrQffluunm17rrQ> )!)Q\lUJrr~ fb!Juu@i.b. 

12-ri.Ja;~(i;f)LUJ u/)ai '1''1iJT, ~ri'QjurrL6. ®!D1uS@ LOWgJLD "6lmrr~G)!irT@>U4 QJiflEi>s G;Tc;Ar (SI. No.) QPp;'°1UJQJ!i>OOJD 
Gliloo~rrmlQ-r ~IJQirLrrtb uS;s;~Q> <:!>fOOQHJ;(5Y;rrs; <:!>fQJlDjb~mm ~Lri.J8irolru .£Q)Li:> c:!PIQ)Q>~ Si(!!)QlLD .ffil!D 
mLOl4'1>LUJ u~@Ei>mu Cumrr6'6lmrrru ®J6l~~B; s;rrL.L Cru~@tb. C:LDJi>s;ooL "616U1Jri.Ja;mm 66l(j;f)y;p;rrmlru ~ri.Js;m 
®!61~.;; BirrL.~ p;ruJ6lmrrru ~riQJrrmEmlU ~J6l66l8;Q>a;uSlru ®pSlui5lL...@Gh'm6Urrl!)I JbL6Utq.6.ros; Ct0!i>Ga;rrmmuu@tb. 

~QJlr(!!) ~Lb (A), (B), (C) l.Ojf>gJl.i:> (D) '1'QT Sli'fQr@j QS\Q)UliQlQT.$ ~~~~· ~ ~~ ~ 00 6ifllUITQT 
~ ~Qj ~ ~00\Q) ~ a;rrU_ ~Lb.~ Qux;i>uLI._ 6lfllUrrQT ~ ~ Ca-,Qr~ 
~~& ~QlTTQ) ~uSl.Y61flUJrr~ G;T~ G;T~~diif~ ~~ ~ ~s;rrl...L 
~Lb. WU¥J~tb 00 ~~~~Qi~~ ~Lb.~ Qi.err~ 
~UQLiOOa;Qr~~QflQ>~ML...@L.06nlUJrrm~us001QrgGliar~u GulTWfmi· 

6tiloot_j;p;rrmlru ~QJrr(!!) ~6til G;f~'111fl!i>®Li> '1'/)iflro (A) .@. © LOJD!J)!Li>@ '1'QT .mrrm® 66looL QJL.Lrf.Jm 11...mmw. 
~ ~~ 66)Q>uugfiM /,~ 6100lUw ~th ~Q\l Q)UJ ~QI}' S1® 6:61(i;f)L QJL..y;/,lru t0L@Li:> ~Lb &i~ 
~LO .miw Q)l.011.j~ LI~ ~ CuQTITGlS)QTJTQ) ~.;; s;m:_t_ CaJQbi@i.b. ~6\JIT@ CB>m~li> ~ 
66lmL.Q>U.J~ ~ri',tb~ QilQ>y;p;rr""1ru @)1616& ~Gliar@LD. ~ <:.wr~ ~~ ClD!i>uLI._ '6looLW'1flHrrru ~H 
tiSlmL ~QJjDITQT~IT8i ~uu@L.0 ILp)lfl7QlmDIT8.i ~s;Gh' ® '1"Qru~ c!fiflUJrrQT 66lmLlUITM ~QTITQl &I~ i.SlmQJ(!!)LOITWf 
@)!61~5 s;rrL.L ~oo@tb. 

@ • ©@ 
l>ri.Js;m 661gyrr;, Q~rr~u~m G;T~u u~Qlfbll.lli> ~CQJrr <:!>fQlQ)~ &l~u<:am &n.LIT§J . Cfbri'Qj C.m11#Jru @Jbp; 
66lmrr~ Gp;rr®ul.SlQ'lQJ{!UJrr c:!P!QlQ)~ 66lm~rroomCUJrr C)!ir'rQj5 &n.~mp; 66lL...@ QQJmluSlQ> '1'@~116 Q.yQiQ>5&n.Llr§J. 
~ri'QI aPwi.Slm ,!ri.is;m J&rT.1a;~LUJ 66lQlLHrroom5 s;Gliara;rrmfluurrmiflLl.i:> Qs;rlli}j;~ 66lL. <:ruoo@Li:>. 
~6\.JQS\QTrrp; Qp;rr@)Ui5l'1lmj; ~rT6\I QPWaJLm !Sri.Js;liir si...ri.J8i\S!iLm gffi~18: QlfQ)Q>Q>rrLO. 

®!6lu4s;5ir "'@~Li urrri'uup;!i>® 66lmrr~ Qi!irr®ul.Slm s;ooL.Jl u6.s;#J!i>® @mu&~mp; fl..uC:U.Jrr&l~Bi Qs;rrliir'1TQ>rrtb. 

C:LO!i>.sliRTL 661~..,;rolru '1"Ql)!)UJITQJ~ uSpSlwrrru ~irQJrrOOQIJTlUtb <!P~QQJ@5@)1.b JbL6U~5mM>~@> 12-mmrrs; C.a;ifl@i.b 
gQT c:!Pti6JQj!J)l~Uu@.il!D§f · 
4ri.J£.Q) QJtq.66lro Qs;rr@S;s;uuL.Glmm ®J6lu4s;mp;rrQr <!P~amgy~rr@>ib. 

66lmrr~ Q~IT@)Ui.Slru QilQJL Q)UJ ®.a5lu51LCQJrr, ®!Dlui.SlL...@& s;rrl...LC:QJrr Bil.LIT§J. 
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